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[bookmark: _GoBack]The Post-War Consensus? 1951 to 1964
The Atlee government of 1945 – 1951 set the political agenda for the next quarter of a century… big government and the drive towards equality remained virtually unchallenged for more than a generation – the very heart of the post war consensus. Nigel Lawson, Chancellor, under Mrs Margaret Thatcher. 
The dominance of Labour and the Conservatives in the British ‘two party’ political system
Narrow Conservative victory in the general election, October 1951, which was the ‘watershed’ in British history leading to thirteen years of political dominance.  
	1951 Election
	Votes
	Seats

	Conservatives
	48%
	321

	Labour
	48.8%
	295


Key reasons for Conservative political dominance 
· Reorganisation of the party under Lord Woolton, as a result of the shock defeat in 1945
· Internal divisions within Labour, the Bevanites and the Gaitskellites – their differing views made it easier for the Conservatives to dominate 	Comment by Shah hadi: The new Jerusalem is a segregated, sub literate, unskilled, unhealthy and institutionalised working class, hanging on the nipple of state paternalism. Corelli Barnett
· 1951 marked the ‘end of austerity’ and the beginning of the post war boom
· Conservatives readily recognised and accepted the extent of public approval for the legacy of the Atlee governments. Conservatives knew that the welfare state would exist and there wouldn’t realistically be full nationalisation.
Partly by conviction and partly by necessity, the new government accepted the existence of the post war consensus. The Conservative Party were therefore deemed as pragmatic in adopting their policy to enthuse voters at the time.
Other key themes for political dominance
· The legacy of national unity; sharing responsibility for domestic policies meant an easier acceptance from the Conservative government. 
· The need for government intervention in social/economic policy 
· Importance of full employment as a means of reputation
· Conservatives wanted to cooperate with the trade unions (as a result of nationalisation)
· Conservatives behaving less hostile to the welfare state due to its popularity
· Political arithmetic in Parliament; majority was slender and they couldn’t dismantle the Atlee legacy, even if they wanted to  
The ‘post war consensus’ and how it influenced the Conservative governments in the 1950s
The basis of the post war consensus 
· the great depression was never to be repeated 
· war which the nation had come together to defeat the forces of evil
· the rebuilding of post war Britain under Atlee’s Labour governments
Hennessy regards the Atlee legacy as the foundation stone of all that is best about post war Britain (social democratic outlook). This is a view shared by those on the left, including Mrs Thatcher’s chancellor, Nigel Lawson who gives Atlee credit for setting the direction Britain would follow for a generation.
Those on the left regard the Atlee years as a lost opportunity and a failure to bring about equality.
Those on the right regard the Atlee years as mistaken policy – Britain should have been prevented from becoming a nanny state overly dependent on welfare. 
In the 1950s, the post war consensus was alive and well, accepting it was a key reason for Conservative political dominance. 
How politics was affected by the impact of economic recovery and consumerism 

The age of affluence 
The economic indicators in the 1950s all pointed upwards; increases in private savings, boom of car and home ownership, cheap mortgages, the end of food rationing. 
Ownership of consumer goods surged, including modern conveniences – TVs, washing machines, fridge all bought on hire purchase. The advertising industry was proof of this.  
Macmillan (Minister for Housing) fulfilled the pledge of building 300 000 new houses and new towns were expanding as a result of the post war consensus.
Butler was able to boost the Conservative election prospects by cutting £134 million in tax cuts
	1955 Election
	Votes
	Seats

	Conservatives
	49.7%
	345

	Labour
	46.4%
	277


Eden calls the election, seeking a fresh mandate – there was a feel good factor amongst the general public and the press in favour of the Conservative Party. 
The two party system was still in place
There was high expectation from Eden, yet some historians comment on his lack of domestic policy, having been in foreign policy for his entire time in politics. It is therefore ironic that the sole reason for his demise was through the poor handling of foreign affairs in Egypt. 
Suez – October 1956, diplomatic and military fiasco and a turning point for Britain’s illusions as an imperial power. He came under attack from the Labour Party; in denying his involvement with Israel and France, Eden had lied to the House of Commons. 
The Suez Crisis had also split the Conservative Party; Anthony Nutting (Colonial Minster) resigned from the cabinet; 40 Conservative MPs took part in a rebellion. Even the Chief Whip, Edward Heath opposed Eden’s actions, let alone keeping the Conservative Party in line. Harold Macmillan, the chancellor recognised Britain’s vulnerable position which led to the campaign within the cabinet to abort the Suez invasion. Macmillan rose after Eden’s resignation as PM, despite being in favour of his actions at the time. 
In 1959, Harold Macmillan led the Conservatives to another comfortable win and was named Supermac
Reasons for Conservative political dominance in 1957
· Continuing affluence of the consumer society
· Labour under Gaitskell had internal problems 
· Ability of CP to change leaders without power struggles
Why Macmillan and not Butler?
Butler had immense experience being in the architect of education reforms and being part of various Cabinets. Macmillan however, had great political success as housing minister – giving him the popularity that Butler never had. Macmillan had been a dissenter over appeasement and mass unemployment, having voted to remove Chamberlain in 1940. 
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Winston Churchill	Anthony Eden		Harold Macmillan	Alec Douglas Home
1951-1955		1955-1957		1957-1963		1963-1964
Churchill – absentee prime minister, ill; the climate of politics in the 1950s presented the PM role to be quite part time. Churchill spent quite a lot of time away, abroad. His government was full of tensions; Butler and Macmillan didn’t get on well and Eden and Churchill had a strained relationship. 
· The reasons for Conservative dominance under Macmillan
Despite Suez, the Conservative political dominance sustained. 
The ‘age of affluence’ was being given credit to the Conservative government, yet many remember his speech as ‘never had it so good’ – warning them of the perils of inflation. 
Macmillan held control of the government for five years, displaying political mastery and confidence, particularly through the media– the Labour Party was in disarray, fighting its internal battles. 
Macmillan was seen as a man of contradictions – he almost joined the Labour Party in the 1930s. 
He had the traditional social/political views of consensus. 
Suez didn’t affect the of electoral support for the Conservatives; in October 1959, Macmillan won a comfortable majority of 100 as predicted
	1959 Election
	Votes
	Seats

	Conservatives
	49.4%
	365

	Labour
	43.8%
	258


Whilst this win was predicted, because of the timing of the General Election, in reality, there were various political and economic problems during 1957-1958
Summer 1957 – major financial crisis, rising inflation (because wages were running ahead of productivity); the fear was that the pound would have to be devalued against the dollar
Thorneycroft wanted ‘monetarism’ – to limit wage increases and cut the money supply. This policy was rejected by members of the cabinet (Macleod) over fear of unemployment and cuts to housing	Comment by Shah hadi: Macmillan, alongside Atlee was one of the two most left wing Prime Ministers – Margach 	Comment by Shah hadi: The resignation of Thorneycroft was dismissed as a “little local difficulty”
Stop-go economics – tensions between an expanding economy (with low interest rates) and rising consumer spending (go) and the results of the economy overheating with wages and imports EXCEEDING productivity and exports, necessitating the deflation of the economy (stop) through higher interest rates and spending cuts. 	Comment by Shah hadi: The stop-go economic cycle created a downward dpiral that made the continued relative decline inevitable – Pollard 
Macmillan’s position didn’t deteriorate, despite losing ministers. 
Sterling gained its value against the dollar and the economy improved greatly; April 1959 budget was able to provide tax cuts of £370 million – which was probably the main reason the Conservatives won again in 1959.
· The reasons or continuing divisions in the Labour Party
The vote in the 1951 election was actually 14million – the highest it had ever been, even more than 1997; it was due to the inconsistencies within the First-Past-The-Post system that the Conservatives were able to gain a greater majority in Parliament. 
Had there been an election in early 1957, Gaitskell could have been a likely contender for Prime Minister – after the debacle at Suez. Suez didn’t split the Conservative Party as Macmillan re-established himself and unity quite quickly.
Bevanites 											Gaitskellites 
Associated with the extreme left of the party				Associated with the right wing of Labour
Labour entered 1959 with optimism – Gaitskell presented moderate policies that would enthuse Labour supporters. The crushing defeat of Labour was therefore quite a surprise. Bullock argues that ‘the past fifteen years the country has been moving towards equality; now this process may start going backwards’. The defeat in 1959 widened the divisions in the Labour Party; opposition to party leadership (from trade unions), discrepancies in British nuclear weapons. 
Campaign for Nuclear Disarmament CND – most powerful pressure group that demanded Britain to go ahead with 
unilateral disarmament – discontinuing use and possession of nuclear weapons without waiting for any international agreement. Marches from London to Aldermaston took place, many Labour left wingers took part.
Trade unions attempted to challenge the Labour leadership; Frank Cousins, leader of the TGWU had fierce opposition to Gaitskell over British nuclear weapons. 1959 is seen as a missed opportunity where Labour failed to modernise. 	Comment by Shah hadi: The trade unions acted like robber barons, holding the country to ransom. 
1959 Labour Party Conference – ‘to fight and fight again to save the party we love’ 
Gaitskell wanted to abolish Clause IV of the Labour constitution, that was committed to nationalisation. Fearing the opposition from the left wing of the party, he backed down
The economic reasons for Britain’s application to join the European Economic Community and the political impact of its failure
Foreign Policy 1951 – 1964
Did Britain “miss the bus”?
EFTA – European Free Trade Association, 1959
ECSC – European Coal and Steel Community
Treaty of Rome, 1957 – brought in the European Economic Community
Eurosceptic – unsure or suspicious of the relationship between European countries
Europhile – accepting of the European relationship; Pro-Europe
EU – European Union, an economic and political union established as a result of the ratification of the Treaty of Rome.
Imperial preference – concessions made and granted by members of the Commonwealth and the British Empire
Sovereignty – ultimate political power
Supranationalism – a method of decision making in an international political community. Power is transferred or delegated to an authority by governments of member states (sacrificing sovereignty).
Special Relationship – relationship between America and Britain, most associated with Reagan and Thatcher. 
	Comment by Shah hadi: The US never remotely regarded Britain as an equal partner in the Alliance – Evans  
The implications for “missing the bus” at Schuman and Messina
Schuman Plan, 1950 	Comment by Shah hadi: The Schuman Plan was formulated without the British and demanded an answer within twenty four hours – Bullen 
	Yes, Britain did miss the bus…
Dell argues that Britain did miss the bus, when Bevin failed to participate in the talks for the Plan. The failure to participate at Messina became inevitable as a result of not participating at Schuman. Ministers should have had the imagination to sell the idea of Europe to the public and therefore missed the bus. 

	No, Britain didn’t miss the bus…
· Britain could have taken leadership of Europe any time after the war, the French preferred to pursue supranationalism in 1950. 
· Young argues that the Plan wasn’t dismissed without contemplation; joining the EEC meant that sovereignty had to be sacrificed – Whitehall departments argued that the plan was limited in terms of success
· Morrison argues that Britain had the strongest coal and steel industries and had no reason to share
Bullen argues the French made it difficult for the British to participate – the exclusion of Britain made it hard for them to consider the British position and whether or not they could associate with the ECSC. Bevin told Callaghan that the British couldn’t join the EEC because they didn’t want us.



Sicily, Messina, 1955 
	Yes, Britain missed the bus again… 
· Bullock argues that the real opportunities weren’t missed at Messina. 
· Young argues that the British fully understood the dangers of exclusion from the Union. Ministers at Whitehall seriously contemplated European integration and decided going supranational wasn’t idea because participants would have to surrender sovereignty before even discussing the plan would be pulling the roof on before you have built the house. 
· British ministers should have acknowledged federalism wouldn’t have harmed British interests 

No, Britain didn’t miss the bus again…
· Mulward argues that the membership to the EEC was out of national interests. Particularly for smaller states, membership would give them access to the large German economy as well as increasing their political voice – Britain didn’t have such obvious reasons for joining the EEC
· Camps argues that the EEC was against the national interest – the Foreign Office didn’t want to join a supranational community and certainly didn’t want to surrender their sovereignty to ‘unelected bureaucracies in Brussels’
· Camps argues that other European economies were weak and this could adversely impact the British economy
· Kaiser argues that politicians clung onto the myth of Britain’s empire and greatness to emphasise how different from Europe Britain actually was. 
· ‘Missed the bus’ theory concentrates on what the British policy should have been rather than what it actually was. 
· In 1955, Britain tried to sabotage the EEC by encouraging the six to use the intergovernmental OEEC – Organisation for European Economic Cooperation 
· Labour saw EEC as a capitalist club


Economic and Political reasons for wanting involvement in Europe	Comment by Shah hadi: Britain missed the bus, with European integration because its policies were always a few years too late – Nutting, Colonial Minister under Eden
	Economic
· The 6 were enjoying economic growth which enhanced the removal of trade barriers amongst themselves in 1960
· British economic growth was slowing for the first time since the war; discontentment was growing towards British economic policies
· British exports to the Common Market rose by 29% compared to the exports to the Sterling Area which rose by 1%
· Big businesses in Britain were in favour of British membership to the EEC to provide a stimulus to competition and to encourage investment
	Political
· The Suez Crisis revealed Britain couldn’t be deemed a world superpower
· Harold Macmillan wanted to restore the special relationship – fearing that the EEC would develop into a strong political bloc that the Americans would prefer to deal with Germany than Britain 
· Economic weaknesses in Britain meant that the Commonwealth countries were looking to other markets to export goods and that the commonwealth wasn’t politically cohesive
· Macmillan saw membership as boosting the British influence and power over the world, continuation of traditional British policy
· Kaiser argues that Macmillan’s application was not just an inevitable attempt to claw back British power
· Kennedy pressurised Macmillan into joining the EEC; Kennedy felt it was vital that the EEC developed in line with American political and security interests in Europe and membership would assist this



The European Union idea –
The belief that regardless of historical, cultural and language differences, Europe constitutes of a single political economy.
Treaty of Rome, 1957 establishes the European Economic Community
European idea took off for certain reasons:
-The need for post war economic reconstruction in Europe through cooperation and the creation of a larger market
-To avoid another war particularly by resolving the conflict and rivalry between France and Germany
-To create a prosperous Europe which would be a market for US goods and to be the bulwark against the spread of communism

Late 1950s, economic growth in Europe was leaving Britain behind. Macmillan reversed his party’s decision and decided it essential to be joined with Europe from an economic perspective. 
1959 – Britain formed EFTA, European Free Trade Association. This didn’t square up to the likes of the EEC. 
1961 – Britain submits an application to join the EEC in hope of three key economic goals; hope of boosting industrial production, hope that industrial efficiency would increase as a result of competition, increased economic growth – as seen by other countries within the EEC. 
Whilst the British economy was still growing and living standards remained high, the nature of the stop-go economic cycle had not yet been broken. The problems that caused Thorneycroft and Enoch Powell to resign were still there. 
Macmillan set up the NEDC, National Economic Development Council in 1962 in attempt to get economic cooperation between government, employers and unions. 
Led to the demise and fall of Macmillan – ‘events dear boy, events’
1962 The Night of the Long Knives the cabinet was reshuffled and purged; this ruthless attempt at revitalising the Conservative Party replaced the Chancellor, Lloyd with Maudling. Maudling attempted to cut corners; he wanted to avoid unemployment through tax concessions and a policy of expansion without inflation. This led to the balance of payments deteriorating, imports ahead of exports and rising inflation. ECONOMIC DISASTER  
1963, Profumo Scandal – lurid sex, spying, high politics. The Defence Secretary, John Profumo, lied about his actions to Parliament, tarnishing the reputation of the Conservative Party and Macmillan. 
1963, Macmillan became seriously ill, having a major abdominal operation – where he resigned. 
Lord Alec Douglas Home gave up his peerage to take his place in the Commons, allowing him to stand for Prime Minister. All of these problems combined gave the Conservative Party the image of being trapped in a bygone age compared to Labour who promised to take Britain into the ‘white heat of the technological revolution’
The debate over Britain’s economic decline
Barnett argues the crises of the 1970s were the inevitable culmination of long term economic decline; British government had failed to
· control public spending 
· face down wage demands from the union
· failure in British industry to restructure and modernise
· world trade declined
· low productivity compared to foreign competitors
· nationalisation was a big mistake 
· the obsession with full employment led to rising inflation
There is much evidence however to dispute the theory of ‘continuous decline’ – notably by other historians who have argued that the era was evidence of the ‘Golden Age’ or the ‘Age of Affluence’
The comparison with foreign competitors is misleading; the countries ahead of Britain in terms of economic growth were Japan and Germany – nations that had to implement a complete restricting of their economies after the War. Neither had been permitted to rebuild their military strength – whilst Britain continued to spend 7% of its GDP on military spending. 
The causes and extent of social tensions, including immigration, criminality and violence
Demographic changes 
· Due to greater welfare under the NHS, health and life expectancy improved 
· Inward migration from the Irish Republic also changed the social make up
· New Commonwealth migrants also helped to change the social demographic. Total inward migration in the 1960s was 1.25million. Arrival as a result of the Empire Windrush caused social change and social tension
· Outward migration particularly towards Australia – 1.92million total outward migration
Infrastructure and housing were poor and in need of modernising; new towns were created to keep up with the Conservative government’s promises of building 300 000 houses each year. 
Demand for roads increased as private car ownership became easier – motorways allowed people to take holidays easier, changing the idea of leisure. This pushed housing demand outside towns and cities. 
British Railways struggled to modernise having been nationalised. The Beeching Report, 1963 suggested the closure of more than 30% of the rail network as the creation of the M1 & M6 during the 1950s created a cheaper/flexible method of travel. Romantics vs. Realists whether or not the Beeching cuts went too far; the Beeching cuts did cause fundamental social change leaving many rural areas isolated. 
Immigration was seen as economically desirable and hoped the tensions would ease over time. 
Nottinghill Riots, 1958 – ‘nigger hunts’ ‘pub brawls’, argument between an interracial couple, the Morrisons which resulted in a two week race riot in the area 
Commonwealth Immigrants Act of 1962 - limiting migration through work permits. Labour opposes this but doesn’t repeal it when they get into power.	Comment by Shah hadi: Cruel and brutal anti-colour legislation – Hugh Gaitskell 
Despite the discrimination towards immigrants, they continued to come to Britain; however there was a sense of tolerance and getting along. Society muddled along without a sense of direction to achieve a sense of multiculturalism. 
Violence, criminality and hooliganism
Immigrants were often wrongly accused and therefore linked to crime, causing anxiety. Britain was law abiding prior to the 1950s but from 1955 onwards, there was a crime wave, with criminal offences doubling
Kray Twins – known for their extreme violence and empire of clubs, having deserted National Service
Mods and Rockers – aggressive youth culture, disrespectful of authority. 
Rockers: motorcycles, leather, rock n roll. Saw the Mods as snobbish wimps
Mods: scooters, suits, pop music. Saw Rockers as scruffy and old fashioned
It was difficult to understand the reasoning behind the fighting as it took place during the Age of Affluence and over the backdrop of National Service which was meant to instil discipline into young men. 
The changes in secondary education their impact on the class system
The 1944 Education Act had attempted to create a tripartite system; 
Grammar school; Technical schools; Secondary modern schools – not many technical schools were established and secondary’s became the receptacles for students who had failed the 11+
11+ was debated as being unfair, inefficient and a pointless psychological strain on children. Labour worked towards getting away from the 11+. 
Robbins Report, 1962 – commissioned the expansion of higher education, in Warwick, York and Lancaster. 
Local authorities experimented, Leicestershire created a three tier education system, setting up ‘middle school’ from 9-13 years to eradicate the 11+ completely. 
Changing attitudes to class in culture and the media
Class loyalties were strong within political parties. The Suez Crisis illustrated lying and manipulation by the government. The rise of the CND encouraged a tendency to challenge the authorities. Britain was moving away from the traditional ideas of ‘the Establishment’. 
The Establishment – informal networks that connected the social and political elites; ‘who knew the people who mattered’. 
Labour had battled against the class system – having wanted the Atlee government to abolish private schools; the Lords agreed. 
Moderates believed in opening up the route to education through making it a meritocracy by reforming the education system. 
The Profumo Affair 
John Profumo trapped by a sex scandal – lying to Parliament and the Prime Minister; also, suspicions were raised as the girl he was sleeping with, Christine Keeler was having sexual relations with a Soviet spy – this raised questions about secrets of the Cold War being passed. This was largely ironic as it had come after the Vassall affair. 
The Profumo Scandal revealed that the security wasn’t very strong and the press was establishing a more intrusive way into creating gossip about members of Parliament
There was a changing attitude in the form of satire within the press, TV, film and theatre. Film was dominated by war epics, reinforcing the attitudes to class. Racial tension became prominent as themes as opposed to sex and violence. TV programmes such as Cathy Come Home brought about powerful messages about homelessness. Lady Chatterley’s Lover by DH Lawrence caused a storm under the Obscenity Act. Private Eye often made satirical comedy out of the royal family. 
The class system may have been dented by the shifts in social attitudes but not broken  
Why Britain retreated from her imperial role and accepted the need for decolonisation	Comment by Shah hadi: The Atlee government also took the first steps towards changing an empire into a commonwealth.  
WWII left Britain burdened with debts; independence was granted to India and Pakistan, suggesting Britain’s retreat from the empire. 
Political and public opinion was slow to recognise Britain’s reduced position on the world stage.
The humiliating failure of the Anglo-French military presented their inability to act like a great power had been realised at Suez in 1956. 
Imperial illusions held back the process of decolonisation. 
Harold Macmillan’s wind of change speech led to the British coming to terms with letting go of colonies in Africa. However, British defence spending remained incredibly high – particularly the cost of nuclear deterrents.  
Illusions influenced the ideas about the special relationship with the United States in the Cold War. 
By 1964, these illusions hadn’t all been blown away and neither had Britain been given a new role  	Comment by Shah hadi: Britain has lost an empire and not yet found a role. 
The British withdrawal from India presented the commencement of the decolonisation procedures. 
British found themselves fighting against national independence movements in Malaya, Kenya and Cyprus. France had similar problems across their international territories.
The sudden rush for independence had fateful consequences, including the Mau Mau rebellion in 1952 and in Malaya. At the time, independence for Kenya had been deemed unthinkable, but this was before Suez. 
The impact of the Suez on Britain’s position in the world 
The Suez Crisis of 1956
The canal meant that the British overseas empire was able to succeed – Britain became the ruling power in Egypt. Suez became the main artery connecting trade routes from the Mediterranean beyond Asia and Australia. 
Suez became crucial as the route for oil shipments – 80% of Europe’s oil imports passed through the canal.
Egyptian independence, under Nasser was deeply worrying for British strategic interests; his decision to nationalise the Suez Canal Company in 1956 was a decision that couldn’t be accepted or ignored by British government. This pushed Egypt towards the Soviet side of the Cold War. To the British, the nationalisation of the canal they funded to be built had to be reversed either by diplomacy or military action. 	Comment by Shah hadi: Colonel Nasser was an evil dictator who could not be allowed to get away with unprovoked aggression – Eden
Anthony Eden prided himself in foreign policy, believing Britain was still an imperial power. He had little faith that diplomacy would work. Military action was encouraged by Israel and France; but France was fearful of Nasser’s influence.
Meeting at Sevres – Britain, France and Israel make a plan of action; 
· Israeli forces invade Egypt
· British and French intervene – to “enforce peace on Egypt and Israel” but to actually seize  the Canal 
The plan went ahead – but the British and French intervention didn’t go as planned; Eisenhower was angry about the way the plan had been botched up. 
The United States were thought to have taken a negative view of military intervention at Suez; Eden had created a disaster for the Conservative Party and his political career – Britain was simply not strong enough to stand up to American pressure in 1956 when they were plunged into a serious financial crisis. 
Considering Eden was the ‘greatest Prime Minister of all time’ and a foreign policy expert at that, it serves as a shock and surprise that his demise was due to his ‘strength’. 

The ‘wind of change’ in Africa
1957, Ghana/Gold Coast became the first to establish independence. Nigeria, Cyprus, Tanganyika/Tanzania, Sierra Leone, Uganda and Kenya all gained independence in this period, seen at accelerating pace, wind rush. 
Harold Macmillan’s famous speech, the Wind of Change in South Africa in 1960 was based on this; addressing the white male audience and those believing in apartheid. Macmillan convinced them of the need to face reality. 
Why had Macmillan come to believe that change was so irresistible? Nations had to begin to learn to behave themselves. If twenty years are spent ‘learning’ then rebellions are bound to happen, as was seen by the Mau Mau rebellion in Kenya. British decolonisation was less rebellious than in Belgium and Portugal. The transition from Empire to Commonwealth represented a significant achievement  
The reasons why Britain was not involved in the process of European integration 1955 to 1963 
The Schuman Plan, 1950 set out the proposals for a Coal and Steel Community that would integrate France, Germany to promote rapid economic reconstruction and eliminate the possibility of any future was between the two.  The scheme was supported by Britain and the USA. Until 1957, there was an open entry into the EEC. 
Integration was viewed as vital for continental Europe but not for Britain – attitudes changed quickly. 
Economic Free Trade Association (EFTA) 1959, was established, linking Switzerland, Netherland, Austria, Portugal, Britain and Denmark – this was partially successful, with Britain submitting an application to the EEC in 1961, to maintain three key relationships; Europe, the Commonwealth, the United States. 
Britain was determined to keep her links with the Commonwealth which made negotiations with the EEC incredibly difficult. 
The French were determined to protect the EEC from ‘les Anglo-Saxons’ – with de Gaulle rejecting the British application in 1963 as well as an application in 1967. Presenting that Britain had missed the bus. 
The Open Door – 1951 to 1957
The vast majority of the British public had been in consensus about European integration. Economic advantages of the European Economic Community were being disregarded; more the anxiety of previous international relations left behind ghosts that prevented the British public to be enthused by the idea of integration. 
Messina, Sicily 1955 – EEC international conference, France, Germany, Italy and the ‘Benelux’ (Belgium, Netherlands and Luxembourg) presented the arrangements for a Common Market and a bureaucracy to run it.
The agreements made at Messina were put into the Treaty of Rome, Maastritch Treaty in 1957. Prior to the Treaty being signed, the Suez crisis had happened, but yet again, Britain had missed the bus at another opportunity to join the EEC. 
Locked Outside 1958 to 1963
Economically, Britain lagged behind compared to those within the EEC, and the fundamental reason Britain changed its mind. The Suez crisis had presented the lack of foreign policy assisted by the decolonisation process – Britain was lacking economically. 
Making the decision to apply caused Macmillan the job of negotiating entry; the EEC had already made Common Agricultural Policy that Britain found it difficult to conform to. The French used their power of veto and rejected the British application this time and again in 1967. 
Britain’s position in the world by 1964
Britain played a key role in the Cold War – British troops were fighting in the Korean War opposing North Korea. There was close cooperation, special relationship between Britain and the USA on nuclear weapons and sharing of intelligence. This relationship had a lot to do with the negotiations for the Test Ban Treaty of 1963. This limited the testing of nuclear weapons, allowing Britain to keep her place at the international top table. 
Britain was militarily overstretched and increasingly dependent on American power; Wilson’s government cut the military/defence budget. 
Disengaging from colonial responsibilities had come a long way by 1964. The Future Policy Study presented Britain had accepted some, but not all of the implications of the retreat from the Empire. 
The End of Consensus – 1964 to 1975
The reasons why the Conservatives lost power in 1964
· Profumo Scandal 
· Sense of a power vacuum after the resignation of Macmillan
· Growing impatience with the old Establishment and desire for generational change 
· Increased support for Labour; Wilson appeared as a stronger political campaigner compared to Gaitskell who too often attempted to make too many points at once
· The division between the Bevanites and the Gaitskellites was over 
· Labour Party exploited the public mood – ‘time for a change’ ‘thirteen years of Tory misrule’
· The revival of the Liberal Party – winning a by election in the Conservative seat, in Orpington in Kent. This was evidence of softening the Conservative vote. 
The Festival of Britain, 1951 – marked the era of transition into a world of technological and social progress. Children born in the ‘baby boom’ grew up in a very different era to their parents. 
The strengths and weaknesses of the Labour government, 1964 – 1966
Conservatives lagged behind in terms of opinion polls during the period                              

	1964 Election	Comment by Shah hadi: this is what 1964 can mean. A chance for change, to refit Britain with a new image, a new confidence.  
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	43.4%
	304
	Douglas-Home
Heath

	Labour
	44.1%
	317
	Wilson	Comment by Shah hadi: Wilson’s skills were mainly suitable for the politics of survival. 

	Liberal
	11.2%
	9
	Grimond 
Thorpe


Wilson government achievements; 
· classless image to arise onto Britain
· moulding the government onto the improved technological and scientific means of the sixties
· weakening the barrier of social mobility, particularly because Wilson himself was state educated
· created a new Whitehall department of technology; strengthened the department of Education and Science
· provided provisions for the running of seven more universities, having been established under the Tory Robbins Report, 1963. 
· Socially, liberalisation was enforced; Parliament voted against capital punishment in 1965, whilst implementing a Race Relations Act the same year
Labour government failures; 
· Reorganisation of economic policy; due to an enormous (inherited) balance of payments issue
· Anti-Labour attitudes felt amongst senior Civil Servants at the Bank of England
· The National Plan, 1965 under George Brown; creation of the Department of Economic Affairs as it overlapped with the Treasury and the role of the Chancellor of the Exchequer	Comment by Shah hadi: Lord George Brown drunk is a better man than the Prime Minister sober – The Times 
· Weak majority in 1964 made Wilson incredibly paranoid; 1966 election called to consolidate the political position 
How government interventions The British Economy 1964 – 1970
Modernisation was a key priority, as Britain lagged behind the more advanced economies of West Germany & Japan. 
Affluence ceased to be presented in the post war boom by the sixties; British economy was TRAPPED in the cycle of stop-go economics. This meant that the bursts of prosperity always led to inflation and pressure on the pound. This consequently led to balance of payments crises. Reorganising stop-go economics had been a key aim of the previous governments since Macmillan’s premiership. 
In 1964, there was a balance of payments deficit of £400 million – the worst case since WWII. 
Solution? Deflation or Devaluation
Wilson wanted economic policies that would promote economic growth and would catch up with British international counterparts
	Deflation – old stop go approach that Wilson wanted to discontinue
	Devaluation – a good alternative. Economists felt exchange rate was too high, $2.80 to the £1.00
Wilson didn’t want to be the party of devaluation; Callaghan and Wilson attempted to avoid it as Atlee was forced to devalue in 1949



The ammunition for economic expansion led to the Department of Economic Affairs, DEA led by that lush, George Brown. This was problematic as Civil Servants didn’t know who to listen to – Brown or Callaghan 
The National Plan, 1965 – the Department of Economic Affairs, George Brown
Called for a 25% increase in national GDP; which was agreed with industry and unions but not with government 
· The reasons why the Conservatives won a surprise victory in 1970 	Comment by Shah hadi: I have a haunting feeling that there is a silent majority sitting behind its lace curtains waiting to come out and vote Tory. 
October 1964		Labour victory in the General Election
Wilson entered government with optimism and goodwill, as Labour was more in touch with the social & cultural trends of the sixties. Wilson’s promised Britain would catch up with the white heat of the technological revolution – which Labour used to ensure a thumping victory in 1966
October 1965		Crosland plan for comprehensive schools 
September 1965	Launch of George Brown’s National Plan 
March 1966		Labour re-election victory
	1966 Election
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	41.8%
	253
	Heath

	Labour
	47.7%
	363
	Wilson

	Liberal
	8.5%
	12
	Grimond 
Thorpe


The Tory Party’s failings in this election was due to Heath’s inability to connect with the voters or enthuse the Tories
Labour was still the refresher party; after thirteen years of Tory misrule. The 1966 election gave Labour a large majority of 98, the biggest since 1945. However, this didn’t illustrate the strength of the Labour Party, as they struggled over the next three years in government. Wilson relied on his kitchen cabinet of advisers rather than the ministers. 
· The policies and achievements of the Wilson Labour government, 1966 – 1970
George Brown moved towards the FCO and the DEA faded away. Aside the National Plan, the government brought in prices and incomes policy (in attempt to keep down inflation) – limiting price rises, wage restraints in negotiation between unions and employers. The Prices and Incomes Board set up to implement this policy. 
Callaghan replaced by Jenkins as Chancellor; who was in favour of deflationary methods, raised taxes, tightened government spending, highlighted the Balance of Payments as the top priority.  Whilst this made Labour unpopular, by 1969, Jenkins had a balance surplus; paving the way for the 1970 win. However, this led to serious industrial relation problems. 
Labour & the Trade Unions 
Full employment and pleasing the unions had been a key Labour priority. Frank Cousins was made the Minister of Technology, which ensured a good relationship with the TUC. 
July 1966		State of emergency due to seamen’s strike (triggers the sterling crisis)
The cosy trade union relationship somewhat begins to deplete. The strikes showed how old union leaders were losing control; wildcat strikes presented the local/grassroots activists demonstrating strike action
In Place of Strife – 1969, under Barbara Castle; the attempt to use the law to limit unofficial strikes – white paper
Castle knew of the necessity to strengthen the unions, but for the need for the unions to act responsibly. Castle’s reforms were seen as slightly radical; 
· The 28 day cooling off period before a strike happened
· The government’s ability to impose demarcation disputes settlement when unions were in dispute with one another
· Strike ballots could be imposed 
Industrial relations courts prosecuted those who didn’t follow the industrial rules; voters were enthused and this increased Labour poll ratings – however, the Labour left and the unions hated these measures. 
Dispute and protest from unions and MPs, including the NUM’s own Joe Gormley & Callaghan as well as 50 Labour MPs displaying the deep schisms of the Labour Party. Many suggested a repetition of the 1931 split. Industrial relations had failed under the Labour Party and were dealt with later by Conservative governments.  
December 1966	UN sanctions against Rhodesia 
November 1967	Devaluation crisis - economic policy ran into trouble; the pound drops by14 % $2.40
Damaged Labour’s credibility 
Rejection of British application to join the EEC
Made above economic grounds; economic policies appeared futile and Wilson was lukewarm about Europe making the entire application appear to be an utter debacle 
June 1970		Wilson government defeated in general election
the political situation appeared stronger, with the improved economy – the April election wasn’t a predicted defeat.
Labour defeat in the 1970 election
Totally unexpected especially as Jenkins had achieved economic and financial stability which was the reason the election was called. Wilson appeared the craftier master of managing the political campaign compared to Heath, or rather what he’d been given credit for. Evidence of the rhetoric (opinion polls) not matching reality – real election results. 
The reality was, the Conservatives had secured key marginal constituencies during the period of Labour government, which meant that within special polls, a Tory lead was evident, which Heath boasted about. The Conservative Party had effectively defeated the First-Past-The-Post system.  
Conservative determination – 1970 election win
Refused to make immigration the election issue, having consequently sacked Enoch Powell from the Shadow Cabinet in 1968, after the Rivers of Blood speech. Heath refused to let Powell take part in the campaign, despite him potentially raising the Conservative vote in several key constituencies. 
The aims and the policies of the Heath government, 1970 – 1974	Comment by Shah hadi: The 
The Heath years were shaped by the events of 1973, where he achieved success in efforts for British membership to the EEC, confirmed by the 1975 referendum; Heath was the chief negotiator for the EEC. 
Heath came close to secure a solution in Northern Ireland; bad luck that his office coincided with the end of the long post war boom. 
Whilst in opposition, key detailed policies for industrial relations and economic modernisation were created
Meeting at Selsdon set out tough economic approaches to problems influenced by Keith Joseph’s ideas – including inefficient businesses to go bankrupt and not prop them up with help from the state.
1970	New Conservative government under Edward Heath
	1970 Election
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	46.4%
	330
	Heath

	Labour
	43%
	287
	Wilson

	Liberal
	7.5%
	6
	Thorpe



Aims of Heath and his government, 1970 – 1974
Prickly and stiff in dealing people and had been overshadowed by the fluent political skill of Wilson
Heath was however somewhat similar to Wilson, having been from the same state-school educated background
too honest for his own good; Heath was good at policies but not at politics
	Supporting the Heath government – Chancellor (Barber), NI SoS, Willie Whitelaw, Jim Prior Employment 
	Lukewarm about Heath’s economic policy; Keith Joseph; Thatcher (Education Secretary)



Heath was famous for his U-turn in 1972; suggested that Heath had given up on his aims & objectives having given up too easily and he lacked a sense of direction – this was arguably not the case, as Heath was blown off course by economic circumstances. 
One-Nation Toryism (Conservatism towards the left) and the post-war consensus remained; the Selsdon Park Programme had not intended to be an all-out abandonment of consensus politics
The problems of economic modernisation, 1970 – 1973 
Despite economic and industrial relations being Edward Heath’s being his area of expertise, like Anthony Eden, area of expertise led to the political disaster. Heath’s commitment to economic modernisation and ability to make detailed plans actually happen were most effective. 
Heath had wanted Macleod to be the Chancellor that Jenkins had been for Wilson; but Macleod’s death in 1970 had prolonged this goal. The new chancellor, Anthony Barber imposed greater cuts to public spending and tax cuts; one of which was the ending of free school milk, associated with the Minister of Education, the not so well known, Margaret Thatcher – which later ended in backlash for Thatcher being named the milk snatcher. The Barber boom began with a rapid rise in wage inflation. 	Comment by Shah hadi: Heath’s attempt to speed up the rate of economic growth in spite of rising unemployment before entering the EEC led to deliberate economic expansion – the Barber boom which went against the previous promises of halting inflation. – Murphy 
People blamed the rise in wages on the growing power of trade unions and their willingness to hold the country to ransom through strike action. Unemployment rose above a million for the first time since 1930; and rose during the same time as inflation. 
This termed the word ‘stagflation’ which was the unusual combination of 
STAGFLATION = Stagnant Economic Growth + Inflation = unemployment 
The government had previously wanted to reduce state intervention but were now compelled to take action. Companies including Rolls Royce were nationalised and money was poured into Upper Clyde Shipbuilders. 
THIS WAS KNOWN AS THE FAMOUS U-Turn
The miners’ strike lasted six weeks and stopped the movement of coal around the country. Britain was put on a three day week in attempt to conserve energy. NUM leader, Gormley negotiated a wage settlement. The strike appeared as a clear victory for the miners against the employers. Left wingers saw industrial action as a political weapon and not just a means of bargaining better pay/conditions. The strikes encouraged a right wing backlash against excessive trade union power.
The government made good recovery in 1973, despite the supposed end of the post war consensus. This is outlined In Finest and Darkest Hours by Jefferys;
· Wide support for stage one and two of prices and incomes policy. The limits on wage increases were in line with the rising cost of living 
· The number of working days lost due to strike action was cut in half compared to 1972. 
· Lots of government investment to boost the economy
· Unemployment dropped sharply to 500 000
· North Sea oil was to come on stream 
· The Conservative government became more popular – level with Labour in opinion polls
1971	Decimalisation of the currency
1972	Bloody Sunday in Northern Ireland – sectarian violence, the British army struggled to keep peace and the situation in Belfast almost led to political breakdown. Heath’s government proposed the Sunningdale Agreement of 1973 which failed  It is difficult to establish whether or not the Sunningdale Agreement was feasible as a solution or because Heath was too distracted by the economic problems in Britain 
The civil rights movement in NI had challenged the old Stormont Ascendancy (who made up much of the Belfast parliament and the socio-economic system) by Protestant Unionism. 
1969 a serious case of sectarian violence; Wilson’s government sent in the British Army to keep peace; NI hadn’t been as prominent since the partition of Ireland in 1922. 
Since 1912, the Ulster Unionists had always been part of the Conservative & Unionist Party but Heath felt that the Unionist politicians were beginning to break away, and had to be forced. 
Heath had previously backed up the leader of the Belfast government, Brian Faulkner; who locked up suspected terrorists, denying them habeus corpus – this proved ineffective as a security measure and alienated the nationalist community. 
The British Army was regarded as the enemy occupying power. Attempts to control a demonstration in Derry ended in British soldiers firing live ammunition resulting in the death of 13 civilians. Heath subsequently suspended the Stormont parliament and brought in direct rule from Westminster. Heath didn’t want to just defeat the IRA, but find a permanent political solution
The Sunningdale Agreement under Heath and Whitelaw effectively created a power sharing plan – this was received by republicans and unionists as a sell-out. The prospect of settlement was undermined by the miners strike and the Feb 1974 election in mainland Britain. 
Loyalist opponents of power sharing organised an Ulster workers strike which brought the entire province to a standstill . 
The Sunningdale Agreement collapsed and the cycle of sectarian violence and political stalemate continued for a further 24 years. 
1973	OPEC crisis – economic issue that effectively decided the fate of the Heath government 
British entry to the EEC: considerably easy, as Heath had to gain parliamentary approval. Conservatives who had faith in the Commonwealth resisted whilst Labour was deeply divided on the issue. 69 rebel Labour MPs helped to get the vote passed. Wilson’s promise of a referendum ensured a sense of unity – Heath’s persistence brought Britain into Europe, yet uncertainty remained
Miners’ strike and the imposition of the three day week - economic issue that effectively decided the fate of the Heath government
The problems in the economy and the impact of the oil price crisis of 1973
The end of consensus was symbolised by the OPEC crisis in 1973, and a subsequent energy crisis. 
The coal strike went from being an economic crisis to being political and a confrontational showdown between the NUM and the government; not being about wages or working conditions but more on who governs Britain? This question effectively led to two subsequent elections in the same year – the first time since 1910-11. 
Economic crisis in 1973 was prompted by the Yom Kippur War in Israel; prompting the OPEC to declare an oil embargo (an official ban on trade in the country, resulting in exports stopping) and prices quadrupling. The OPEC oil crisis led to inflation rising to 16%, interest rates at 15% and a balance of payments deficit of $1billion. This caused the value of oil to rise from $2 a barrel to $35. The value of the pound subsequently dropped from $2 = £1 to $1.57 = £1
 This meant that the NUM could demand huge pay rises in November 1973. December marked the beginning of the three day week. 
1974	Who governs Britain? Election 	Comment by Shah hadi: Here was living proof that the working class had to only flex its muscles and it could bring governments, employers, society to a complete standstill. – Scargill 
NUM had been crucial to the trade union movement and ordained a significant amount of public sympathy doing a dirty job, campaigning for improved pay & better conditions keeping in line with other industries, despite their big pay award in 1972 strike. 
The 1972 strike symbolised a profound new strength – challenging the likes of the government and the employers. 
Gormley was a moderate but the NUM housed a communist, McGahey and a radical leader Scargill; the NUM was effectively directly challenging the power of a democratically elected government. 
Heath moved Willie Whitelaw from NI to Minister for Employment to use his power of persuasion to tackle down Gormley which failed and resulted in a national strike in January of 1974. Strike was welcomed across Britain and even in moderate areas like Nottinghamshire. 
Heath was determined to not give up on PHASE THREE of the PRICES AND INCOMES POLICY.
Shortage of Coal	+ 	Rising Prices of Oil	=	Balance of Payments Crisis 
Indirectly, the miners’ strike brought down the government 	Comment by Shah hadi: The optimism of 1964 was but a distant memory king replaced by a grim fatalism. Turner 
February 1974 electoral victory for Wilson, Labour; defeat of the Conservative Party and the fall of Heath
The circumstances in which Labour returned to power in 1974	Comment by Shah hadi: No presidential nonsense this time; no first hundred days and no beer and sandwiches at No.10 to resolve crises. – Wilson 
	Feb 1974 Election
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	37.8%
	296
	Heath

	Labour
	37.2%
	301
	Wilson	Comment by Shah hadi: Wilson was seen as a spent force whose sole attraction was that he wasn’t Heath. 

	Liberal
	19.3%
	14
	Thorpe


Led to a hung parliament – where no party had an overall majority; suggesting that the two party system in Britain had somewhat stagnated, and the usual clear cut outcome had not been produced. 
Due to the FPTP system, Labour took office as a minority government with the 301 seats – five more than the Conservatives. But it wasn’t at all clear that Wilson would lead the next government. 
The obscure result of 1974 was due to the increase in minor party representation; 
The Liberal Party came back from the political dead; whilst the SNP, Plaid Cymru, Sinn Fein won 23 seats. 
Heath could have done with support from any of these parties in attempt to increase his majority. If the Ulster Unionists had continued to support the Conservative Party, Heath WOULD have won the 1974 election. 
However, Powell had joined the Ulster Unionists and had campaigned fervently against Heath – who had attempted to strike a deal with the Liberals and ultimately failed. 
1975	Victory for Labour; defeat of the Conservative Party and the fall of Heath
Economic and political crisis since 1973 led to Mrs Thatcher becoming party leader; Heath was notoriously known for the Long Sulk which lasted until Thatcher’s demise in 1990. 
Labour didn’t return to office with the same reception that had been received in 1964; there was less of a chance of having a ‘free hand’ in parliament as Labour was reliant on the other parties to get legislation passed. Wilson was less energetic and less certain of the way he was to govern too. 
Economically, the Labour Party had inherited an insane balance of payments deficit of £400 million from the Heath government making the Labour Party more disunited than ever. 
The October election was to be called in attempt to gain a working majority to drop the reliance of the minor parties. 
1974	March: Wilson decided to act as a minority government and effectively dared the other parties to bring him down – he didn’t want to enter a coalition and compromise especially as there was soon to be another election soon. 
The Industrial Relations Act and the Pay Board were abolished – the government wasn’t looking for any confrontations. Wilson’s Chancellor, Healey issued two budgets to try and deal with the economic crisis synonymously with dealing without pissing the unions off. 
1974	October: Safe to call election
The Conservatives were very much associated with the three day week and miners’ nonsense; the prospect of Heath’s national unity government didn’t appeal to voters
	Oct 1974 Election
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	35.7%
	276
	Heath
Thatcher

	Labour
	39.3%
	319
	Wilson
Callaghan 	Comment by Shah hadi: Callaghan read the funeral rites for Keynesian economics

	Liberal
	18.3%
	13
	Thorpe
Grimond
Steel


Wilson won a WORKING MAJORITY – with Labour gaining 18 seats, with an overall majority of only 3. The lead over the Conservatives was 42; with the Conservative Party having lost 21 seats 
Wilson had two clear aims:
· Self-preservation
· Avoidance of disasters
Wilson’s obsession with DOMESTIC POLICY & PARTY UNITY was illustrated in the EEC Referendum – as it aimed to stop the splits in the Labour Party. 
British economics were so poor, the EEC appeared a viable option, for economic survival

Yes – EEC 												No – EEC 

Heath and Jenkins  										Foot and Powell Should Britain join the European Economic Community?

17 million – YES										8 million – NO
British membership to the European Economic Community was confirmed in 1975. 
Europe ceased to be such a divisive issue for the Labour Party; but more so for the Conservative Party during the reign of Margaret Thatcher. 
1975	Victory for YES vote in the EEC referendum
	Heath replaced as party leader by Mrs Thatcher
In 1964, continuity was more apparent than change than 1950. Lots of talk about white heat of the technological revolution as well as getting used to the affluent society. 
Attitudes changed significantly, with the youth, women and the educated middle class. The post war society was being replaced by an open society concerned with individualism, freedom of expression - who would regularly challenge the Establishment. Vocal backlash came from the social conservatives who disapproved of the breakdown in morality during the generation gap. 
Greater divisions within the main parties widened as they turned away from party loyalties; reflected by the increased minor/third party voting support and extra parliamentary pressure groups. This was across Scotland, Northern Ireland and Wales where Liberal and Nationalist support increased. 
Demographic change, 1964-1975
Influenced by:
· Continued influx of immigrants
· Accelerated shift of population to new housing/council estates that replaced slums. This had commenced prior to 1964 but the effects were most felt during this period
· Impact of road transport and private car ownership. Commuting by car ensured the spread of the ‘urban blight’ within inner cities
Population change, 1960 – 1980
Whilst population increased on an exponential level, this was neither steady nor consistent. There were periods of faster growth and periods of stagnation. Between 1975 and 1958, population began to fall; fluctuations with the population reflected the socio-economic background of the period.  
	1960
	52.4 million

	1970
	55.6 million

	1980
	56.3 million





Impact of immigration 
	Year
	Caribbean
	Indian
	Pakistani
	Bangladeshi

	1951
	28, 000
	31, 000
	10, 000
	2, 000

	1971
	548, 000
	375, 000
	119, 000
	23, 000

	1991
	501, 000
	840, 000
	477, 000
	164, 000

	2001
	529, 000
	984, 000
	675, 000
	257, 000


Social tensions that had been experienced with the New Commonwealth immigrants were experienced as the immigrants continued to come in to Britain. When the Conservatives had been in power, Labour attacked immigration policies at limiting immigration, but during the 1964 administration, the Wilson government put in a white paper to control immigration whilst setting up the Race Relations Board to enforce the outlawing of racial discrimination. 
In 1968, the influx of Kenyan Asians forced the government to pass the Commonwealth Immigrants Act limiting the right of return to Britain for non-white Commonwealth citizens. This prompted Powell to make his notorious Rivers of Blood speech in April 1968 – which was the inflammatory speech which was condemned by the liberal establishment. 
Powell was not racist; more a sentimental imperialist who wanted to turn time back. Immigration remained a contentious issue, after the ousting of Powell from the Conservative Party and the Heath government introduced an Immigration Act in 1971. There were effectively no rivers of blood as economically, migrants were needed and political leaders were committed to managing immigration and working towards social cohesion. 
Arrival of Ugandan Asians 
1968	Kenyatta, leader of Kenya enforced a policy of Africanisation denying independence to the Asian minority, resulting in migration to Britain; the British government moved to limit this migration by the Commonwealth Immigrants Act, more Kenyan Asians decided to move before a ban – early 1968, 13 000 immigrants came into Britain.
1972	Idi Amin announced that the Asian Ugandans had three months to emigrate, many of the 50 000 citizens with British passports. Due to the 1968 Act, only 3000 were allowed to enter per year; the British government created Ugandan Resettlement Board which assisted the immigrants in finding homes settling in Birmingham, Bradford and Leicester where there was an abundance of work – this resulted in successful assimilation into society after anxiety about the strains on community relations
The social impact of industrial disputes
Traditional union leaders were part of the post war consensus having achieved improvements in pay and working conditions  through collective bargaining with employers 
1. Government became more involved with strikes becoming more political 
2. Union leaders began to lose control of local memberships
3. More and more wildcat strikes occurred leading to an exponential number of working days lost due to strikes
The significance of the 1974 miners’ strike
Strikes were effectively reactions against the long term industrial change; for miners facing the contraction of the coal industry. Miners were involved in confrontations with employers and the government. 
Younger union leaders used more radical tactics such as flying pickets who pressurised workers to walk out and blockaded places of work.
Alongside the OPEC oil crisis of 1973, confrontations led to a massive energy crises. This resulted in the polarisation of society with working class communities feeling their lifestyles were under siege; for the entire nation, it was a combination of oil disputes and learning to live with the three day week
The three day week attempted to conserve electricity to respond to the industrial action ; restrictions included the rationing of fuel, 50mph speed limit, deep cuts in heating and lighting of public buildings and commercial premises. Temporary unemployment payments went up. Union militancy was strengthened; social tensions did not disappear after the Labour government who gave into union demands. 
Industrial unrest, winter, 1973 – 1974
October 1973		Strikes against government pay policy 
November 1973 	NUM overtime ban; state of emergency declared
December 1973		Imposition of a three day week
January 1974		1.5 million on temporary unemployment benefits
February 1974		Start of the miners’ strike
March 1974		Three day week ended by Labour government 
The birth and impact of environmentalism – ecology; saving the planet/world 
Environmentalism; tackled industrial pollution, protecting wildlife, organic farming, dangers from radiation, nuclear waste
1962	Silent Spring published by biologist Rachel Carson alarmed the decline of birds/wildlife in the countryside due to the overuse of chemical pesticides/DDT
1963	Hunt Saboterus formed against foxhunting 
1967	The wreck of giant oil tanker Torrey Canyon caused an oil spill across South West England. There were passionate attempts to clean up the oil industry
CND had initially sought to be a pacifist protest against atomic bombs; the protest to find alternative forms of energy due to the nuclear power strategy causing long term health threats
 Environmentalism in British politics
Friends of the Earth formed in 1971
British Ecology Party (the Green Party), 1973
Greenpeace, campaigning against whaling, 1977
The Animal Liberation Front
Direct action was an issue that split the environmental movement. The Animal Liberation Front adopted extreme violence – letter bombing against politicians including Thatcher.
TV increased the interest in natural environment and the need for conservation through colour photography
Lovelock gained many adherents to his Gaia theory about the interconnectedness of all ecological issues
By 1970, environmentalism had gained a permanent place on the political scene 
How Britain continued the process of decolonisation and retreat from her imperial role
Britain’s world role
Empire and the Commonwealth: Britain and Rhodesia, 1964 – 1975 
Britain and Southern Africa 1963 – 1979 – 
How the problem of Rhodesia caused difficulties for Britain 
The wind of change was welcomed across the north of the Zambezi river; however, it was seen as a challenge and a threat across the southern Africa. Macmillan had not targeted the colonial people, as a result for their yearning for independence – rather the white minority regimes who thought they could stand against the wind of change. 
1965	Unilateral Declaration of Independence for Southern Rhodesia announced by Ian Smith, who became PM and caused controversy. Smith was committed to continuing white rule, 
“I do not believe in black majority rule [in Rhodesia] in a thousand years”
This resulted in a direct challenge to the Wilson government who had greater priorities than Rhodesia – having planned to simply spend weeks rather than months on a solution, through oil sanctions (which were ineffective as Rhodesia used the Portuguese colony, Mozambique for supplies and the big oil companies ignored the sanctions policy) or diplomacy to negotiate a solution (also shit)
1967	Biafra crisis of northern Nigeria populated by the Ibo people – Biafra attempted to become an independent state resulting in a bitter civil war. British government felt bound to support Nigerian government and the territorial integrity. The press was in favour of Colonel Ojukwu, giving British government a difficult time until it ended with defeat for Biafra. 
1968	Wilson-Smith talks on HMS Fearless. Smith appeared stronger rather than weaker and relied on support from the British Conservative Party including the Monday Club and big businesses with a South Africa business interest, and waited for Britain to give in. This in turn made Britain look weak and upset the Commonwealth countries. Smith’s position strengthened by a surge of white immigration to Rhodesia in the late 1960s
1976	Smith accepted the Kissinger Plan by the USA approved by both South Africa and Rhodesia	Comment by Shah hadi: Britain is a tragedy – it has sunk to borrowing, begging, stealing until North Sea oil comes in – Kissinger 
Withdrawal from the East of Suez
1964	Escalation of the Vietnam War
From government office in 1964, the Labour government knew of the reduction of military commitments, resulting in the SoS for Defence, Healey starting a process of spending cuts to bring in the budget below £2billion. 
The 1967 white paper set a timetable for troop withdrawals 
Wilson was criticised and had waned Britain to have a role in the world, and had believed in the Atlantic Alliance. Wilson had announced continued attempts to deploy Polaris missiles – 1967, to upgrade the system to a more advanced specification 
1967	British pull-back from east of Suez
1968	Hungarian rising crushed by Soviet forces
January 1968, drastic spending cuts were introduced as a result of the 1967 devaluation crisis. Withdrawal from East of Suez rapidly accelerated and troops were pulled out of Aden, the Arabian Gulf, Malaysia and Singapore by 1971. 
The development of the new warplane, the TSR2 was abandoned as it was far too expensive. 
1970, when Labour was in power, there was discussion about delaying/reversing the withdrawals; Heath was reluctant to pull out of the Gulf as this is where most of Britain’s oil resided. The process was not complete by 1971 and troops continued to come back home until the late 1970s. Britain’s future military would by Europe and the Mediterranean; Britain became poorer and weaker. 
1971	British forces withdrawn from Arabian Gulf 
The last pretence of being a world power was stripped away – Kenneth Morgan
1973	British accession to the EEC
	Yom Kippur War – led to a temporary oil embargo
	OPEC oil price crisis 
1975	End of Vietnam War
The reasons why it was not until 1973 that Britain entered the European Economic Community
1964, the Wind of Change speech had brought independence to 18 new Commonwealth states; Wilson’s government hoped that this would increase independence and reduce Britain’s military dependence, particularly in the East of Suez. Arguably, Britain was attempting to rid itself of the reputation it had created, but Britain was seen as an important world player 
Britain and Europe 1963 – 1975 
· 1963	First EEC application blocked by de Gaulle’s veto
Shattering blow to the Macmillan government, negotiated by Heath when rejection was reached. Heath intended on carrying on with the attempt to get in 
The 1964 Labour government wasn’t as committed to securing entry to the EEC; it faced negative reception from the unions. Pro Europe marketers in the Cabinet included Roy Jenkins and George Brown (Foreign Secretary, 1966). 
Wilson was more ambivalent and wasn’t keen on the EEC & preferred relying on the Commonwealth and Atlantic alliance but could see some strength of some of the economic reasons for entering. 
· 1966	Second application agreed by Wilson government
Wilsons cabinet backed an application despite the prospects of success not being great. The British bid was more half hearted due to the doubts within the governing party. 
· 1967	Application vetoed by de Gaulle 
Wilson and Brown went to Paris to meet De Gaulle & toured 5 other EEC countries to gain support. Government won a vote in Parliament to proceed with the application – the only opinion that mattered was De Gaulle’s, and he wanted Britain to sacrifice their ‘special relationship’ to enter Europe which Britain didn’t proceed with, and the application was inevitably vetoed in November  
· 1970	Talks with ‘The Six’ about EEC expansion
· 1971	Agreement in principle for Britain’s accession to the EEC
Prime Minister, Edward Heath, was passionately pro-Europe; and by this time, the French president was Pompidou who felt that Britain needed to be included in the EEC as much as Britain wanted to be in the EEC. Formal accession took a further 2 years – 1973. 
· 1972	Treaty of Accession signed in Brussels 
· 1973	EEC entry of Britain, Ireland and Denmark
· 1975	British membership was confirmed by Wilson’s government through a referendum ; won by more than 2:1. Whilst the referendum  was meant to be ‘reassuring proof that Britain was in’, but it was viewed as a lack of commitment, that the referendum was held at all. 
In January 1973, ‘The Six’ became ‘The Nine’. Whilst British membership had been secured, some people thought it was sixteen years too late and Britain would suffer from missing out on the most influential years from the inception of the EEC, since 1957. 
The extent to which Britain’s position in the world had changed by 1975
DECLINE. DECLINE. DECLINE. 
Due to:
· retreat from the empire abroad
· economic crisis at home
· USA being weakened by the Vietnam War
· Special relationship under strain 
· Poor support from Britain especially in the Middle East, during the Yom Kippur War to support Israel
· NATO alliance in danger of fragmentation
Thatcher and Reagan were determined to reverse the military weakness and to start winning the Cold War.
The reasons for the decline of the Labour government between 1975 and 1979
The Wilson government was in a strong position despite its small parliamentary majority; during this administration, the decline and unity of the party denounced the authority of the government.
Problems with the Labour administration: 
· Surge in inflation due to large wage increases (needed to get out of industrial crisis) as high as 30%
· Government was weak in standing up pressure from the unions 
· Inflation was running at 20%
Chancellor Healey warned of the dangers that wage inflation would lead to unemployment, the importance to control public spending. 
1975	April: Healey’s budget imposed steep rises in taxation
1976	Budget aimed to limit wage increases to 3%		which intensified party divisions…
STAGFLATION WAS BACK…
Michael Foot & Tony Benn 
Didn’t want to put pressure on the unions – believed in state intervention; the government decision to nationalise industry including British Leyland. 
Government was rescuing lame duck industry

 


Right wing approach


1976	March: Harold Wilson shock resignation due to his health. 
Callaghan became Prime Minister to maintain party unity – which wasn’t the case as by-election defeats in 1976 reduced Labour’s tiny parliamentary majority. 
Problems with the Labour administration: 
· Deadlock in Northern Ireland
· The economy
· 1976, Healey went to the IMF for an emergency loan of £3 billion; which the government made big spending cuts in return. The economy recovered but the surrender of economic sovereignty illustrated an image of British economic decline, with regards to the appearance on the international world stage
· Left wingers said that this was paving the way to privatisation & capitalism 
· Whilst Callaghan maintained a sense of party unity on central government, locally, and in the public sector there was a sense of leftist militancy
Labour administration solutions and achievements: 
· Callaghan strengthened his government in 1977 with the Lib-Lab pact where 12 Liberal MPs voted for the government party in Parliament which in return pushed for devolution which the Liberals craved – but this happened during the Winter of Discontent 1978-9 where people were distracted – devolution had to wait until Tony Blair’s premiership 	Comment by Shah hadi: The Lib-Lab Pact appeared as something of a shotgun wedding. 
· The North Sea coming on stream improved the economic situation; with nine oilfields in production by 1978
· Inflation rates fell – recovery meant Britain was no longer economic sick man of Europe
· Devolution acts were passed and paved the way for referendums without decisive outcomes. 
Scotland: more people voted for independence than against it. Wales: 4:1 for independence
The Thatcher Revolution? 1975 to 1990
The Triumph of Mrs Margaret Thatcher
Thatcher led the Conservatives against devolution – reversing the policy of Heath who had supported it – in 1970, the Conservatives held half the Scottish seats, 36 seats – by 1997 the Conservatives were obliterated form Scotland & Wales. 
Mrs Thatcher’s success:
1. Force of personality & confidence when her country and her party wallowed in pessimism – used Saatchi & Saatchi to polish over the campaign for the Conservatives
2. Willie Whitelaw – deputy PM who had different ideas but wanted party unity, which was instrumental in winning over the Heathites in the party 
3. Economic policy of monetarism – against big government & consensus politics; monetarism meant restraint of government spending and borrowing and strict curbs on the money supply. 
4. Keeping her options open – the 1979 election didn’t place specific policies but more broad policies
The reasons for the outcome of the 1979 general election and its political significance 
May 1979 election – why did it not take place in 1978, as the Prime Minister had the prerogative powers that allowed him to call an election when the political situation is most favourable, which Callaghan didn’t exploit his power doing
[image: http://www.albionmill.org.uk/wp-content/uploads/2014/03/labourisntworking-1979.jpg]Spring of 1979 proved absolutely detrimental to the political landscape due to the Winter of Discontent
the economic situation had deteriorated and unions sank to the lowest ebb since the war.
Winter of Discontent – not on a massive scale, but the psychological effect impacted the fate of Callaghan’s government. Industrial action was carried out by public sector workers including hospital porters, dustmen and grave diggers – Britain’s landmarks including Trafalgar Square were filled with the remains of rubbish not being collected. 
Labour’s vulnerability on the issues of unemployment, law, order – excessive power of the unions- the strikes in 1979 showed the weakness of the old union leaderships and failure to control the unions. 
Saatchi & Saatchi’s electoral propaganda – Labour isn’t working
The Conservative appeal improved and reached out towards both skilled and unskilled workers

Sunny Jim Callaghan lost a vote of no confidence on the issue of Scottish devolution and the Labour government was forced to resign – this hadn’t happened for 55 years. 
1979	May:		Conservative general election victory – watershed between the decline of the Wilson & Callaghan Labour governments and the RADICAL government of Mrs Thatcher. 
“inflation was the most potent dragon to be slain” – Evans 
The general election took place at a time Callaghan really didn’t want nor need one
	May 1979
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	43.9%
	339
	Thatcher

	Labour
	36.9%
	269
	Callaghan 

	Liberal
	13.8%
	11
	Thorpe
Grimond
Steel

	SNP
	5.4%
	16
	


The result was a working majority of 43 for the Conservative Party – the dip of support for the Liberals and the SNP helped to reinforce the Conservative result. The SNP seats helped to pressure the case for devolution. 
The rise of Margaret Thatcher, 1975 – 1983
1975	February: 	Edward Heath replaced by Thatcher as leader 
Despite Heath being in a strong position (despite having lost three elections fought against Wilson in a matter of eight years), all of the Shadow Cabinet said they wouldn’t run against Heath. 
Mrs Thatcher’s policies were on the right of Heath & Macmillan’s agreeing with the monetarist policies, but she was pro-Europe, suggesting the influx of the New Right. 
Thatcher only had a brief experience in the Cabinet as Education Secretary – which arguably tarnished her reputation, Thatcher the milk snatcher. Thatcher only won the position of Party Leader through her campaign manager, Airey Neave who exploited things that were going wrong with the country & the Conservative Party, making Thatcher look more appealing. 
Mrs Thatcher won 130 votes; Heath 119 which resulted in his resignation – Round One	Comment by Shah hadi: When Heath went to visit the Queen in March 1974, Heath was not alone. The post war consensus too, went with him to resign. Hennessey 
Mrs Thatcher won 146 votes; Willie Whitelaw won 79 votes – Round Two
Thatcher won – Willie Whitelaw became deputy prime minister. Thatcher supposedly offered Heath a senior position in the Cabinet which he turned down – dilemmas in historiography appear as Heath fervently denies being offered such a position
The First Thatcher Government, 1979 – 1983 
The first Cabinet comprised of both WETS and DRIES
	WETS: members of the Conservative Party who were soft about the social consequences of the monetarist economic policy. These members were the ‘Heathite’ politicians who believed in One Nation Toryism 

Apart from Jim Prior, who was a Heathite politician on the left of the party – as expected, he was at odds with Thatcher. He kept good, positive relations with the unions 
	DRIES: members of the Conservative Party who gave their uncompromising support for monetarism. These members were left unchanged by monetarist policy and were on the right wing of the Conservative Party. 
Posts on the Economy:
John Biffen
Nigel Lawson
Geoffrey Howe – resignation speech in 1990 was instrumental to Thatcher’s fall. 



In 1981 – the government intervened on the side of the miners in dispute between the National Coal Board; the government pressured the NCB into withdrawing its planned pit closures to ward off danger of strike by the NUM. 
Monetarism and its impact on the British economy
Howe set out to reduce government spending and to cut high levels of tax inherited from the outgoing Labour government; 
· Basic rate of income tax was reduced from 33% to 30%
· Top rate of tax was reduced from 83% to 60%
· VAT was increased – epitomising Thatcherite monetarist policy that the people should not be taxed on property/income rather what they spend
Led to increased unemployment and a contraction of industrial production
1980: 		SERIOUS RECESSION = INFLATION (15%) + UNEMPLOYMENT (2MILLION) = Stagflation
		+	North Sea Oil	=	Saved Britain from a BOP crisis
1981 Budget:	Aimed to ELIMINATE inflation by CONTROLLING money supply
Taxes on petrol, cigarettes went up – borrowing went down. Deflationary policies however, made it worse…
Since 1951, the goals had always been full employment and welfare. Unemployment seemed a price worth paying to slay the dragon of inflation – forcing industry to become more competitive. 
Steel production, cut 30% - many industrial plants shut down. Deindustrialisation of Britain.  
[image: http://static.guim.co.uk/sys-images/Observer/Columnist/Columnists/2011/6/30/1309433521472/Mono-Print-007.jpg][image: http://static.guim.co.uk/sys-images/Observer/Pix/pictures/2011/4/7/1302184180229/brixton-1981-riot-spark-007.jpg]Simultaneously, riots were breaking out… 
[image: http://upload.wikimedia.org/wikipedia/en/c/c9/St-pauls-riot.jpg]


St. Paul’s, Bristol – 1980 	Brixton, London – 1981 		Toxeth, Liverpool – 1981 	
These riots led to public anxiety (as expected…) and a breakdown of social cohesion 
WETS were sacked/driven to resignation – Prior moved from employment to NORTHERN IRELAND. This was Thatcher steering the ship of state, straight onto the rocks. 
1981 this moved the Conservative Party to third place in the opinion polls. 
The internal divisions in the Labour Party and the rise of the SDP	Comment by Shah hadi: “a mood rather than a movement; a transient phenomenon”
The divisions faced were comparable to those faced in 1931; the press were UNIVERSALLY hostile to the Labour Party, illustrating Thatcher as the stronger prime minister, more so than anyone had anticipated.
Reasons for hating on Labour
· The resurrection of the Liberal Party from the political dead meant that Labour ceased to be representative of the Anti-Conservative vote.  
· Labour voters turned into Thatcher Conservatives
· Some supported the far left, and attacked Labour leadership
· Some just became apathetic and cost Labour the election
· The SDP formed by key personalities; Rodgers, Owen, Williams, Jenkins
Percentage of votes – Labour Party 	 
The First Past the Post electoral system saved Labour from a massive loss in seats, despite their decrease of popular vote
	1966
	48%

	1979
	37%

	1983
	27%


The Emergence of the SDP: 
1981	February:	Formation of the SDP
1981 – the Gang of Four issued the Limehouse Declaration, announcing the Council for Social Democracy. 
This was seen as betrayal and deserting by the Gang of Four; it was their duty to carry on the fight within the party as Gaitskell had fought. 	Comment by Shah hadi: The Limehouse Declaration attempted to break the mould of British politics. 
The Gang of Four saw their separation from the Labour Party as them being driven out of the party by the hostility of extremists. The better, more noble thing to do was to create a new centrist and moderate party instead of fighting a losing battle with the Bennite left.
LOONY LEFT						SDP					LABOUR RIGHT

Militant Tendency							Manifesto Group
This middle ground that the SDP appealed to was the makings of the electorate who were taken by Blair’s New Labour. The creation of the SDP ceased to be a bombshell, and had been evolving since the 1970s, with the left wing influence growing, including Militant Tendency, pressure group. Activists’ organised ‘deselection’ – Taverne was unseated from Lincoln in 1973. Moderates formed the Manifesto Group for more centrist policies. 
Roy Jenkins outlined the centrist policies on the Dimbleby Lecture presenting the SDP as a new party who had arised away from out of date politics. 
Callaghan didn’t resign as party leader, despite losing the election and didn’t do so for a further 18 months. Despite Healey being the ‘obvious’ candidate, the Labour Party elected Michael Foot, from the Loony Left. Healey defeated Tony Benn in the contest to be deputy leader. 
1980	November:	Michael Foot elected as Labour leader 
1981 Labour Conference – dominated by the Labour left, which was the stimulus for the SDP to break away. 
1981, Jenkins won the by election in the Labour safe seat, Warrington
1981, Williams won the by election in the Conservative safe seat, Crosby
1982, Jenkins won Glasgow Hillhead
The by election wins proved Labour couldn’t win back power, as the voters were voting for the SDP
Peter Tatchell, Bermondsey, homosexual was defeated by the Liberals who had broken the mould of the two party system that FPTP produced. Labour was UNELECTABLE. 
The Liberal revival and the rise of the Alliance
The revival of the Liberals didn’t gain seats at Westminster in 1970, but more the support of the major parties loosened. Alongside Plaid Cymru & SNP, did well gaining seats in the south-West of England. 
1976	Thorpe replaced by Steel
The downward trajectory of Labour performance meant that the Liberals developed strategies to win by elections. Pavement politics appeared to be their forte, with issues that mattered to local people. 
FPTP however, didn’t favour the Liberals so they set about attempting to reform it into proportional representation – fair votes. This wasn’t to go ahead, so the Liberals endeavoured an alliance with the SDP. 
Although there were issues with the Two Davids, some parts of the party didn’t want to merge at all. 
The reasons why Labour was so badly defeated in 1983	Comment by Shah hadi: Mrs Thatcher spoke of the “dark, divisive clouds of Marxist socialism” on the Labour Party. 
1982	June:		Surrender of Argentine forces in the Falklands
The Falklands Factor
April 1982	The military of Argentina invade the Falklands Islands
		Thatcher responds with full scale military to get back the Islands – SUCCESS
Victory was a vindication of Thatcher’s bold leadership – unleashed patriotism in the country. 	Comment by Shah hadi: The recon quest of the Falklands represents the high watermark of Thatcherism – Evans 
The Falklands Factor – galvanised the Conservative grass roots groups, Thatcher gained confidence. This was her springboard for her election victory in 1983. Alone, it would have not been enough to bring landslide victory, but it was the case that she could benefit from the weakness of the Labour opposition. 	Comment by Shah hadi: The victory in the Falklands was a brilliantly orchestrated propaganda coup – Evans
The only relaxation and curveball thrown at the special relationship was the Grenada invasion – where the US didn’t confer with Britain before entering one of her Commonwealth countries. This could be justified as Grenada was suffering from Soviet puppets the New Movement attempting a coercion of power. Evans suggests the Grenada invasion was naked power politics. The USA was justified – but this is evidence of Britain ceasing to be equal. 
1982 	September:	Unemployment above three million
The General Election of 1983
1983	June:		Massive victory in the general election 
	1983
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	42.4%
	397
	Thatcher

	Labour	Comment by Shah hadi: Old Labour was killed off not in the Commons, but in the shopping centre and the estate agents office 
	27.6%	Comment by Shah hadi: Michael Foot was a scraggy socialist bibliophile 
	209
	Foot	Comment by Shah hadi: Michael Foot fought the 1983 election on a self indulgent parade of socialist conscience 

	Liberal & SDP
	25.4%
	23
	

	Other
	4.6%
	21
	


Analysis
· Labour vote almost halved since 1951
· The Liberal Alliance was only 2% behind Labour
· They won a 144 seat majority 
· The Falklands Factor enthused the electorate
· Approval ratings shot up for Thatcher
· Labour leadership under Foot lacked credibility 	Comment by Shah hadi: Michael Foot proved to be an ineffectual leader who lacked either the power base or the political gifts to stamp his authority on the Party. 
· The Labour manifesto was criticised by Labour politician, Kaufman as the longest suicide note in history [unilateral disarmament, abolition of foxhunting]
· Support for the Liberal Alliance was taken away by the Falklands Factor. 
· The Liberal Alliance got half a million fewer votes than Labour but 186 less seats – proving the inconsistencies with the FPTP voting system
· Anti Conservative vote totalled at 16 million (three million more than the Conservative vote) yet Thatcher still won a 144 majority 
· Only 13 Tory Female MPs. 
1983 Thinking Points…
Wave of Conservative dominance?
Weak and divided opposition?
Wave of enthusiasm for Thatcher?
Or basically a shit electoral system to work with?
The reasons for the political dominance of the Thatcher government from 1983
The opposition parties were incapable of challenging her government with their majority of 102, against her 144 strong majority government. At the beginning of her premiership, even the her cabinet didn’t want to stand up to her. 
Popular evaluations on Thatcher as Prime Minister 
	Transformational leader who changed everything, a great PM who saved the nation from absolute disaster at home and restored Britain’s pride and prestige abroad
	Worst of Britain’s PM who was responsible for intensifying social divisions; thus responsible for her own demise



The High Tide of Thatcherism, 1983 – 1987
1983 win consolidated her win both as PM and as party leader; having become incredibly unpopular in her first term as a result of poor policies and not having the entire backing of her Cabinet which consisted of the wets who were against her monetary policy – they had been marginalised by 1983, and Mrs Thatcher had a team of committed Thatcherites:
Nigel Lawson – Chancellor of the Exchequer
Norman Tebbit – Trade Secretary
Geoffrey Howe – Foreign Secretary 
Thatcher’s became incredibly influential in the press due to her press secretary, Bernard Ingham. 
Through her incredibly strong political leadership position she was able to slay three dragons; 
· State controlled industries – by privatisation of industry, stimulation of free enterprise through tax cuts and deregulation 
· Left wing local councils – blamed for wasting resources, battles were fought with the Greater London Council (left wing maverick, Ken Livingstone) – demonization; 1986 Local Government Act abolished the metropolitan authorities; allowing central government to increase at the expense of local government  
· The unions – the outcome of the miners strike as the defining moment, when Thatcher finally had Arthur Scargill’s scalp under her belt, having smashed them over the head with her handbag. 
1984 – strike ballots were compulsory for the last two years and mass picketing was banned. Coal was building up and the flow of the North Sea oil coming on stream meant that there was less of a chance that there would be an oil crisis like in 1973. 
[image: http://static.guim.co.uk/sys-images/Guardian/About/General/2012/11/22/1353589586991/Orgreave-008.jpg]Scargill was charismatic in leadership, didn’t gain total support for a national strike and his failure to hold a strike ballot made the NUM incredibly vulnerable. 
Thatcher was criticised in the politicisation of the police, as they were used to defeat the miners rather than be impartial protectors of the law. 
Many felt sympathy for the mining communities, as Thatcher had described them as the ‘enemy within’ but it was easy for Thatcher to demonise Scargill as a dangerous revolutionary compared to her democratically elected government. 
1990 – the power of the miners shifted, and membership dramatically reduced; 2/3 of what it had been in 1979
The divided opposition, 1983 – 1987
The attempts by new leader to move Labour back to a position of political credibility was very much a long journey. 
In 1985, the party conference in Bournemouth he made an outspoken attack on the actions of Militant Tendency, blaming them for the taking Liverpool to the edge of bankruptcy, rushing redundancy notices. 
1987, Kinnock had done a lot to restore the party, bringing it to more of a moderate level – yet they still suffered another defeat; which made modernisation the key principle of the Labour Party intention 
The revival of Labour was matched by a loss of momentum for the SDP-Liberal Alliance which fed off from the Labour defectors; due to ideological problems and the issue of the two David’s – Owens & Steel. 
	June 1987
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	42.2%
	375
	Thatcher

	Labour
	30.8%
	229
	Kinnock

	Liberal-SDP Alliance
	22.6%
	22
	Owen
Steel

	Other
	5.4%
	23
	


1988 – the Liberal & SDP Alliance formally merged as the Liberal Democrats; the more moderate approach taken by Kinnock made old Labour supporters switch back their allegiance, backed by David Owen’s resignation as SDP leader
Margaret Thatcher and the case of Northern Ireland
Republicanism in NI became another enemy to Thatcher, as she had strong unionist sympathies. 
Thatcher faced the ‘special category’ campaign by IRA prisoners held in the Maze prisons in Belfast; hunger strikes led by Bobby Sands gained much attention and support, especially when the Fermanagh by election presented Sinn Fein with an opportunity – he won but died a few weeks after. 
Thatcher claimed the hunger strikes were a defeat for the IRA as special category was not granted. 
The IRA/Sinn Fein claimed the advantage of twin track strategy; ‘ballot box and the gun’ 
1983 election, Gerry Adams (Sinn Fein president) won West Belfast – leading up to the Good Friday Agreement of 1998. 
Despite the anti-Northern Irish stance, there were secret meetings for a constitutional settlement. But in October, 1984, there was a IRA bomb that exploded at the Grand Hotel in Brighton where five people were killed, but Thatcher was left unhurt. 
November 1985, the Anglo Irish Agreement set up intergovernmental cooperation signed at Hillsborough. NI secretary, said that the IRA could not be defeated by force and the government would react imaginatively – start of the peace process. 
The British economy, 1979 – 90 
DENATIONALISATION: rolling back the frontiers of the state – by the privatisation of state controlled enterprises. 
BP & British Aerospace were privatised in 1979-80, by the selling off of BT in 1984 started the privatisation domino effect, British Airports Authority, National Bus Company, British Gas, Airways, Rolls Royce and Steel. 
The sale of British Gas allowed ordinary people to buy shares in companies 
Privatisation was driven by anti-socialist ideology, that the private sector was more dynamic and efficient than the public sector. Private enterprises were sold off cheaply to ensure all shares were taken. 
[image: http://i.telegraph.co.uk/multimedia/archive/02531/Thatcher-Council-H_2531736b.jpg]Privatisation meant that the government was enabled to bring in huge amounts of money. Radical Thatcherites wanted to push ahead with privatising the NHS, the railways and coal industry. 
Thatcher had wanted to ensure Britain turned into a Property-Owning-Democracy and did so through the widest possible private ownership of homes.
The Housing Act, 1980 gave the Right To Buy to council house tenants, by 1988, 2 million people had bought their houses. The scheme was so popular as the tenants were given generous discount making it more appealing than open market. This reduced and slackened the social mobility ladder. 
	Positives of privatisation
	Negatives of privatisation 

	People were able to take the opportunity to buy their own homes with the Right To Buy scheme

Good for the middle classes

The sale of council houses was in the ‘better’ areas making areas appear more affluent 

Councils were able to use the profits of the sale of these houses to reduce debts
	Shares in private industries were bought by commercial interests rather than the ‘little people’ that the government advertising had predicted (if you see Sid, then tell him)

	
	Made life insecure for employees; couldn’t rely on long term job security, reliable pension provision

	
	Employees lost jobs as the privatised enterprises cut back on staff. 

	
	Caused an uproar by the public sector unions, COHSE, NUPE, and teachers campaigned for working conditions 

	
	Failed to impact the less desirable estate areas

	
	No new houses were built; B&B facilities were needed, and in 2005, the Scottish Executive terminated Right to Buy


In 1979 – 1990, those owning stocks and shares trebled, from 3 million to 9 million. 
Downfall of Margaret Thatcher 
1. Economic problems: stock market crash, Big Bang, the financial deregulation – freed the City of London, the financial markets (that were controlled by the Bank of England) in 1986. The Lawson boom led to the rapid expansion of the economy but this didn’t help the balance of payments. By 1990, inflation was at 10.9%; the fear of inflation led to Britain entering the ERM, Exchange Rate Mechanism 
2. Political problems: Heseltine resigned over the Westland affair, leading to Thatcher’s political isolation. 
2.1. Thatcher using Prof Walters as an economic advisor infuriated the Chancellor, Lawson and the hesitation with the ERM made him resign too. When the Chancellor of the Exchequer resigns it usually means the government is in trouble
2.2. Howe resigned after Thatcher’s backtracking of European commitments. Howe wasn’t the most charismatic figure but he had been an architect of Thatcherism; having been former Chancellor and Foreign Secretary. His resignation, only after Lawson’s resignation convinced even loyal Tories feel that maybe it was time for Mrs Thatcher to go. Howe made a speech to the Commons that he could no longer serve under such a leader, and it was up to others to consider their own response. 	Comment by Shah hadi: She treated Geoffrey Howe as a cross between a doormat and a punchbag - Lawson
3. Self-inflicted: she wanted to replace the system of financing local government through inflicting poll tax, which proved bitterly unpopular – she was strongly advised to drop the scheme. Anti-poll tax demonstrations led to serious rioting; government’s popularity fell sharply
The loss of the safe seat of Eastborne to the Liberals was alarming – illustrated the potential to lose the entire government. Calling the Liberal Democrats a dead parrot was ill advised. 
European Policies – Mrs Thatcher wasn’t too happy with the idea of joining the ERM. Many Tories disagreed with her, seeing the benefits, meaning for one of the first times in her career, she was in the minority. Mrs Thatcher continued to be outspoken; a full monetary union EMU (Economic and Monetary Union); she said it would be entering a federal Europe through the back-Delors, Her views on Delors’ vision of a federal Europe were made pretty clear when she famously made her no! no! no! speech in Parliament https://www.youtube.com/watch?v=U2f8nYMCO2I
Heseltine had a clear ambition for leadership, and as a result of Howe’s resignation speech, he formally announced he would challenge the leadership of the party. 
During this, Thatcher flew to Paris for a security conference; this was a serious error as she stayed in Paris through the polling day. This arguably shows Thatcher at her most arrogant and oblivious state.  The Great British press said Heseltine deserved to won. 
In the ballot for party leader, Mrs Thatcher won 204 votes to Heseltine’s 152 – this still required a second ballot; Mrs Thatcher stood again, but after two days, resigned as a result of a lack of Cabinet support. 
The Conservative Party struggled to come to terms with its ‘regicide’ – beheading of Thatcherism	Comment by Shah hadi: She succumbed to the language of the battlefield rather than the language of partnership – Howe 
Perhaps Mrs Thatcher fell because she was running out of enemies…
She was always battling; with Galtieri, Foot, Scargill and at the end, Livingstone; soft targets
Europe became her main target after 1987, but this was not an easy battlefield to fight on because of the risk of doing serious damage to party unity. 
Or she was running out of friends? 
She lost almost all the key players of her team – Cecil Parkinson (party chairman), Willie Whitelaw (went to the Lords); 1987, she alienated Howe, Lawson and Tebbit 	Comment by Shah hadi: His wife had become crippled by an IRA bomb but also because the 1987 election had been so divisive for the Tories – Tebbit had informed Thatcher of her grating personality and Thatcher seemed to have taken the comment to heart 
Margaret Thatcher – a revolutionary?
	For
	Against 

	First female British Prime Minister
	She alienated female voters so that the Conservatives no longer gained the majority of the female vote

	Enabled the Conservatives to have 18 years in power
	She enabled the Labour Party to have 11 successive years in power

	She smashed the excessive power of the unions 
	She politicised the police and polarised society

	She played a key role in winning the Cold War
	She was not invited to the tenth anniversary to commemorate the building of the Berlin Wall

	She restored national pride
	She alienated Britain’s partners in Europe 

	She rescued Britain from economic decline and turned the economy dramatically
	She caused unnecessary damage to Britain’s industrial base

	She made Britain into a property owning democracy
	She encouraged private greed at the expense of public good 



Why did Mrs Margaret Thatcher resign?
A tigress surrounded by a bunch of fluffy hamsters… (her cabinet lol)	Comment by Shah hadi: The Cabinet’s customary role was to rubber stamp decisions that had already been taken 
Margaret Resigned Because Her Leadership Changed Everything
Miscalculations, Resignation of colleagues, By-election defeats, Heseltine, Leadership challenge, Colleagues, Europe
Right wing perspective – Letwin
Believes she was the most effective peacetime 20th century PM. The reason for her demise was the downfall of Howe and Lawson. She was responsible for reversing the socialist consensus and saving the nation. Mrs Thatcher restored virtuous values. Letwin sees Thatcherism as pragmatic, active and practical politics that changed Britain. Privatisation had significant benefits including that of increasing share ownership by entrenching popular capitalism - £19 billion was raised. Letwin believes in a Thatcherite attitude rather than simply Thatcherite economic policy. Local government was out of control, bastions of municipal socialism. Thatcherism reduced state bureaucracy. Thatcherism ensured greater efficiency for value and money as well as ensuring greater personal responsibility. Education was a means of economic success. Britain went from the sickman of Europe to a confident player on the world stage; Thatcherism challenged and changed the intellectual agenda of political discourse. 	Comment by Shah hadi: Education reforms demoralised the teaching profession – Evans 
Centre left Conservative // Wet critique (opposed to the monetarist economic policy)
One Nation Conservatism appealed to all classes. This widened the gap between the rich and the poor resulting in greater inequality. Monetarism was seen as economic dogma; this is evidenced by the doubling of unemployment in 1981. Switching to Exchange Rate stability (Lawson) combined the worst parts of Keynesianism and monetarism causing stagflation – stagnated economic growth, higher inflation and greater unemployment. Social policy was castigated; unnecessary changes to housing, education and social security. Wets were scornful of European policy. Gilmour regards privatisation as the key triumph settlement of Rhodesia and the Falklands. 	Comment by Shah hadi: Privatisation was a crucial ingredient of Thatcherism. – Seldon

The centralisation//strong state critique
Promising laissez faire yet concentrating and centralising power. This is an example of confused federalism. Power was concentrated at No. 10 Downing Street; the development of the Downing Street Machine operating like the American Presidential model of the EXOP. Parliament became little more than a rubber stamp. Local authorities were very much disregarded and discredited; the abolition of the Greater London Council and the Metropolitan Police Authorities represented a major shift in the balance of the constitution between local and central government. Mrs Thatcher completed the destruction of informal checks on excessive executive power. Pluralism as a concept eroded as Thatcher depleted the autonomy of the unions. Thatcher stigmatised the unions as the enemies within policing became more politicised. The result of the Thatcher period; Britain became a two nation state. The majority benefited from greater economic security and the minority was disadvantaged and repressed. 
Nationalisation decade – where the police, police authorities, Whitehall controlled budget and schools were monopolised by central government. This was known as central diktat. Industries were not properly ever denationalised. The state retained significant shareholdings. The gentleman in Whitehall really does know better. 
A left of centre critique 
Thatcherism was the most nakedly, pro capitalist Conservative government hounding the far left. The poor became poorer; the bottom 20% of society received a miniscule 5.9% of the total national income. The well off were rewarded with under priced shares and higher tax rate cuts; whilst the poor endured a cut in Child Benefit by 21%. The assisted places scheme promoted elitism which the left of centre would see as a negative method of using money in the cash starved system. 
Historian Kavanagh’s view
Thatcher dismantled the planks laid down by the Atlee government as follows; 
	Clement Atlee
	Margaret Thatcher

	Commitment to full employment
	Didn’t care about full employment; rather increased efficiency even if it meant the creation of the structural unemployment of 3 million people

	Conciliation of the trade unions
	Smashed the trade unions with her handbag, getting Arthur Scargill’s scalp under her belt	Comment by Shah hadi: She cannot see an institution without hitting it with her handbag – Critchley  

	Mixed economy 
	Privatised economy; more people owned shares than belonged to trade unions in 1990

	Welfare state being free and universal
	Elitism in education – support for the middle class

	Economic regional, social policy being under equality
	Creation of an underclass



Historical determinist theory
Looking to other countries, Thatcher’s leadership ceases to be monumental in the way it is described. The important changes to Keynesian post war consensus stress the importance of her leadership. 
History’s handmaid rather than a historical architect. 
Historian Evans’ perspective
Regards Mrs Thatcher as a damaging and divisive figure making Britain less tolerant, more greedy and far less humane. Mrs Thatcher is regarded by Lord Blake as a giant among pygmies. 
In conclusion, she fell because she failed to notice she hadn’t carried her supporters with her. Mrs Thatcher therefore remains a great leader, with great flaws. On a political, social and economic front, Mrs Thatcher shone. On a foreign and international front, she sparkled. Everything that was a success was a smaller part of a bigger failure. 
Demographic change, in 1975 – 1990
· Immigration: 58 million by 1990. There were periods of stagnation, and between 1975-78, population fell; fluctuations reflected the social, economic background of the time. Immigration was a social concern; Indians assimilating more than those coming from Pakistan. The sudden rush of immigrants from Bangladesh after independence in 1974  caused Brick Lane to be known as ‘Banglatown’. As a result the National Front became active in Southall and Brick Lane. A new Immigration Act was passed in 1981  
· Shift of population from rural to urban areas
· Sharpening of the north-south divide; people were leaving behind the Midlands and traditional industries 
REFER TO ALL THE RIGHT TO BUY STUFF HERE TAMU  
The miners’ strike 1984 – 1985; in attempt to prevent the downsizing of the coal industry. The strike was politicised with numerous confrontations between miners and the police. 
[image: http://www.independent.co.uk/incoming/article8277463.ece/alternates/w620/5481738.jpg]1979, mining membership was at 200 000; by 1990, it dropped sharply to 60 000. Coal was being used for only for 20% of Britain’s energy requirements. People were moving towards cleaner nuclear power. 
Social impact of the miners’ strike  
Scargill and Gormley were always at each other’s throats and there were always internal rivalries. It didn’t have a ballot measure and was unofficial. The Nottinghamshire miners formed a moderate breakaway union, the Union of Democratic Miners. 
Scargillites – accused of being too concerned with hard left politics than the interests of the miners he was leading to defeat 
The UDM – were accused of being traitors and scabs
Impact on communities of industrial disputes
Wildcat strikes increased and moderate leaders came under pressure from younger radical activists; this epitomised the Winter of Discontent. 
The emergence of extra-parliamentary protest movements 
CND, Campaign for Nuclear Disarmament – increased under Thatcher’s determined backing for the policy of deterrence and working against the arms race against the USSR. The weakness of the opposition political parties had left a gap that needed to be filled by direction.
The Animal Liberation Front went from non-violence to Eco terrorism. This was arson attacks on pharmaceutical companies that tested drugs on animals, letter bombs (including one to Thatcher). Support for Greenpeace and Friends of the Earth increased. 
Pacifism and feminism: the Greenham women
In 1979, American cruise missiles took their base in Britain – in reaction, the CND organised mass marches to Aldermaston. 
RAF Greenham Common in Berkshire; became a focal point for feminism and pacifism to remain for 19 years. April 1983, when the cruise missiles were to arrive, the Greenham women formed a 14 mile human chain; from Greenham to Aldermaston. This dramatized the role of feminism – leading to their eviction and the destruction of the camp by Newbury council. 
After the Cold War ended with the falling of the Berlin Wall, the Greenham Women kept up their camp until 2000. Direct action had become a bigger cause than the issue of nuclear disarmament . 
Anti-poll tax riots
Thatcher moved away from rates (where people paid for the value of homes and businesses) to a system of community charge paid by individuals. To distinguish who paid the charge, the electoral register would be consulted, dubbing it poll tax. 
	It would be fairer to elderly pensioners who lived in a large house as they were prevented from paying an extortionate amount of 
	Extremely unfair as everyone liable would have to pay the same flat rate of tax despite how wealthy 



Poll tax became hugely unpopular! Thatcher’s determination to push it despite the being advised against her ministers resulted in large Conservative unpopularity in the 1990s. 
November 1983, Militant Tendency set up the Anti-Poll Tax Federation. In March 1990, a week before the poll tax was to come into operation, 200 000 people turned out to demonstrate. The surrounding streets were choked by the crowds and fighting and scuffles broke out. Some blamed anarchist and unemployed coal miners for deliberately fomenting violence. Almost 5000 people were injured; including those not protesting with the miners. 
The police appeared to have lost control and many commentators compared it to the Battle of Orgreave, in 1984. 
Protest in culture and media
More aggressive trends in culture and the media. Opposition in Parliament was ineffectual and it was perceived that culture was used to display the opposition to the Thatcher government. Playwrights like Hare and Brenton produced highly charged plays that attacked selfishness and greed engendered by Thatcherism. 
Boys From The Black Stuff; Spitting Image and Private Eye kept up with the satirising of the Thatcher government 
The 1975 EEC referendum CONFIRMED that Britain’s destiny remained in the Europe and the days of empire were well and truly over. The Wind of Change blew away colonial rule in Africa. Strategic bases East of Suez were being over. 
Rhodesia, Hong Kong; settled easily and Gibraltar put at a diplomatic deep freeze. 
The Falklands dominated British foreign policy in the early 1980s; Falklands was a minor episode in Britain’s retreat from the Empire 
How Britain continued the retreat from her imperial role
Britain and Rhodesia – Ian Smith gave up, opening the premise for black majority rule in Zimbabwe – Rhodesia led by Mugabe. 
Britain and South Africa – what to do about the apartheid situation; Falklands Islands became more problematic and the end of Lord Carrington’s foreign policy career
The causes and consequences of the Falklands War	Comment by Shah hadi: the Foreign Commonwealth Office recognised that the Falklands were an anachronistic imperial burden – Evans  
· 300 miles of South America mainland – yet a British colony since 1833
· Known to the Argentinians as Las Malvinas – pre owned by Argentina
· The Falklands Islands remained as an isolated remnant of empire occupied by sheep farmers 
· The access to it was by Argentine airline, energy by Argentina 
Yet the people considered themselves British, and Foreign Office diplomats wanted to use diplomacy to settle dispute over the future of the islanders. 
Lord Carrington (Foreign) and John Nott (Defence) approved the withdrawal of HMS Endurance leaving the South Atlantic without British naval presence. Carrington later resigned as he had advised against pulling out of Endurance. 
The junta (military group) took hint that the withdrawal of HMS Endurance meant that the Britain was willing to let the Falklands go…
Leader of the junta, General Galtieri sent an invasion force to occupy the Falklands claiming Argentine sovereignty over Las Malvinas. 
Thatcher didn’t look to diplomacy but to announce that a naval task force would be needed to remove the Argentine forces and assert the right of the Falklands Islanders. 
Diplomatic efforts
Efforts were made to get Argentina to accept UN Resolution 502 and pull her troops back 
To get support from the USA – as it was proving impossible to fight battles 8000 miles away from home without the use of American bases, Ascension Island 
The special relationship strengthened the ties between Mrs Thatcher and Reagan. The US and Britain have together been the greatest alliance in the defence of liberty and justice that the world has ever known. 
May 2, all chances of ‘peaceful’ settlement disappeared when the British submarine sank the Argentine Belgrano. This became increasingly controversial as the Belgrano was streaming away from the battlezone 
May 4, air launched Excocet destroyed the British warship, HMS Sheffield; American diplomatic intervention was crucial in preventing the Argentine forces from obtaining more missiles
May 21, British troops landed at San Carlos Water (passage between East/West Falkland, Bomb Alley). When the landings were secure, victory was certain. 
Argentine forces surrendered on 14th June
On a domestic level, Thatcher had hit her all time high; on an international level, it was debated that Britain would end up negotiating a deal with Argentina over the Falklands anyway. 
Falklands remained a blip in world affairs – as the Cold War took over
The impact of Margaret Thatcher on Britain’s relations with Europe	Comment by Shah hadi: On Europe she was an agnostic rather than an unbeliever – Morgan      
The EEC referendum in 1975 was more to do with the internal divisions in Labour rather than Britain’s relations with Europe. 
Thatcher was still undecided with Europe. Her personality and political style ruffled the consensual politics favoured by the other European leaders. 
The Bruges speech, in 1988 depicts Mrs Thatcher as increasingly reluctant to make moves towards integration; illustrating that the referendum in 1975 did not solve the problem at all. 
Thatcher in Europe…
1) To secure a better deal for Britain over financial contributions to the EEC; currently they were not getting returns on their involvement. She got rebate and was enthusiastic about the Single European Market
2) Relationship with Mitterrand – cooperating on the Channel Tunnel which opened in 1994 (pro-European Thatcher)
3) Mostly pro-European cabinet 
4) Wanted to include new states of Eastern Europe as this would decentralise the power from Brussels 
Thatcher’s Bruges speech emphasised the EEC was a TRADE ASSOCIATION between sovereign states. Thatcher opposed the idea of federalism and the ever closer political union. 
Thatcher clashed with the French president, Jacques Delors egged on by the tabloid press ‘UP YOURS DELORS!’ (The Sun)
Reaction to Thatcher’s anti-European stance 
	Tension within her government, Howe and Major, said that she was backtracking from 1985
	Eurosceptics, including the Bruges group argued that it was the federalists in Brussels changing the EEC into a political union from what it had originally been – a Common Market  



Thatcher hated the German Chancellor, Kohl, despite being ideologically quite similar. She was quick to remind the German of having to rescue Europe from German domination – so the Anglo-American influence being stronger. 
Thatcher preferred Gorbachev’s idea of a neutral federal Germany rather than what actually happened – German Democratic Republic (East Germany) being swallowed up by West Germany. 
Thatcher wasn’t invited to the lavish celebration in Berlin after the fall of the Wall. 
Britain’s contribution to ending the Cold War 
Cold Warriors appeared on the scene from 1979 – British Prime Minister, a Polish Pope (John Paul II) and an American President (Reagan). The West won the war as a result of cooperation against the Soviet Union – the Iron Lady played an enormous role in coexistence and the policy of détente 
Cold War won on the basis of…
1) Combative style of leadership
2) Determination to confront the USSR
3) Willingness to negotiate with the new reformist leader, Gorbachev 
4) Revitalising the special relationship – Reagan and Thatcher’s relationship eroded the memories of weak American relations during the Vietnam, the oil crisis and the Yom Kippur war. They were dubbed the ‘Ronnie and Maggie’ show

· Cruise missiles were stationed all over Europe – Reagan stepped up plans for the Star Wars anti-missile shield; causing serious tensions between the Soviet Bloc and the West. The Cold War was decided by the Western firmness and the amount of Defence spending the USSR couldn’t match.
· It was Gorbachev who ended the Cold War – he was younger and a realist; ‘If not us, who? If not now, when?’ Thatcher liked him too – “I like Mr Gorbachev…He and I can do business together”
There was no peace settlement; but the ‘year of miracles’ seeing a sudden rush to unity in Germany, by a takeover by West Germany of East. 
Reagan left office in 1988; Gorbachev was overtaken by the falling of the communist regime in 1991, and Thatcher fell in 1990; despite Thatcher’s controversy with Europe, in the new Europe, Thatcher, the Iron Lady was admired. 
Conservative decline and the triumph of New Labour, 1990 to 2007
· The internal divisions weakening the Conservative Party
· The leadership of John Major and the difficulties facing him
· The role of economic developments and of key personalities in the rise of New Labour
· The reasons why the Labour Party achieved a landslide victory in the 1997 election 
1997 was a political earthquake – the Conservative Party torn apart by the civil war and the betrayal of Mrs Thatcher. 
1997 appeared as the milestone in which the Conservative Party lost their natural, traditional place as the party of government. 
The resurgence of the Lib Dems, like the success of New Labour seemed to reflect the fundamental changes within British society, breaking the mould of British politics. 
Whilst it was a political earthquake, it shouldn’t have been a shock – as the Labour Party had been regaining momentum since 1992. The rise of New Labour was a powerful challenge to a deeply divided Conservative Party – and Blair came to power in exceptionally favourable circumstances. 
1997 poses various questions…
· Was the Labour landslide due to negative factors – to the inward collapse of the Conservative Party?
· Was 1997 a mark of positive approval for the rebranded Labour Party under a new and popular leader?
· Was 1997 the rejection of Thatcherism?
· Was it proof that Thatcherism actually triumphed, that Blair and New Labour were continuing the Thatcher legacy in their policies?
· Was Conservative decline in the 1990s just a swing in the electoral cycle?
· Was Britain now ready for a new form of politics for a new society?	Comment by Shah hadi: Blair “extinguished socialism as a political force in Britain” – Toynbee 
The Conservative government under John Major	Comment by Shah hadi: Major’s policies were just “Thatcherism on autopilot”
Previously, Major had been foreign secretary in 1989; now the party he led was in a state of shock. There was especial hostility towards Michael Heseltine and fierce determination among right wingers to take revenge against those who had betrayed Maggie. 
Thatcherites saw Major as one of them, most likely to be loyal to the Thatcher legacy – however, this view was not especially accurate; his natural instincts were to UNIFY the party, through his calm temperament and his capacity to not make enemies. 
Opinion polls and the press illustrated the honeymoon effect of governments – reflecting the intensity of feeling towards Mrs Thatcher. 
Major battled through the First Gulf War, by March 1991; then turned his attention to Europe, where he negotiated the Maastricht Treaty to reform the structures of the European Community. Maastricht was agreed and signed in 1992 – with the opt out from the single currency and the Social Chapter being a result of Major’s skilful diplomacy. 
Scrapping Poll Tax wasn’t as easy as he risked splitting the party; November 1991, poll tax was finally abandoned in favour of the new council tax – this was a costly move as it had taken £1.billion to implement poll tax, but it gave Major the scope to move away from an unpopular policy. 
The British economy, 1990 – 1992
Major inherited a difficult economic situation at the end of 1990 – as Thatcher’s chancellor, he was all known to the problems of the Lawson boom. Recession was marked by declining manufacturing output, high interest rates, a steep rise in unemployment (1.6 to 2.6 million)and serious slump in house prices. 
Homeowners were trapped in negative equity / having to repay their mortgages that were higher than the current value of their homes, resulting in repossession. 
Conservative advisers were worried the 1990 recession would affect the Tory middle classes – who had homes. 
Major’s government resorted to high public spending; forced as a result of rising unemployment but huge government borrowing was used for subsidies on transport, increased spending on the NHS. With the possibility of being defeated, Major invested in lavish spending.
This was the “entrance poll” that the election was going to be very close. 
What issues were facing Labour in 1992? 
1992 election: the Labour Party expected the Conservative Party to lose as they were economically weak, following the poll tax debacle. 
The decision to call election at the last possible moment before the end of the 5 year parliament ended; these are the least favourable circumstances for re-electing a government
Labour appeared reorganised as a party that had been revitalised by Smith and Kinnock. The election was called after Major won game set and match at Maastricht with the Social Chapter and Britain wasn’t in the monetary union. 
Labour under Kinnock was purely a failed attempt at campaigning. Labour was seen as the caring party and polls suggested the Labour win. Kinnock had a rally style convention in Sheffield the week before – a supposed pre-election win. Kinnock had a cabinet in waiting. Kinnock looked like the viable tenant for No.10; honey, I shrunk the economy. Kinnock was eventually accused of overconfidence and complacency.
Kinnock betrayed the British public, by smashing the consensus. Kinnock attempted to launch into the PM role. Labour’s shadow budget seemed to threaten large increases in taxation. The Conservatives proposed to cut bottom rate income tax by 5p. Major advocated that the Conservative Party were the only ones who knew how to run an economy.
Major won the 1992 election on the basis of soapbox politics. 
The Sun switched allegiance from Labour to Conservative – resulting in a swing. 

	1992
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	51.6%
	336
	Major

	Labour
	41.6%
	271
	Kinnock

	Liberal Democrat
	3.1%
	20
	Ashdown

	Other
	3.7%
	24
	


Black Wednesday – 16th September 1992	Comment by Shah hadi: As well as leaving the ERM, the pound was devalued by 20% which wasted some £5billion. “This made Wilson’s temporising in 1966 – 1967 look mild by comparison” – Hirst 
John Major’s election victory was thrown off course by a toxic mixture of financial crisis and internal party divisions over Europe.
The panic measures to prevent the devaluation of the pound ended in a humiliating defeat as Britain was forced to withdraw from the ERM, less than two years after joining it; Major’s popularity diminished and took a hammering from the right wing press. The debate over Europe again, widened.
The Labour Party used this as an incentive to turn into the party of economic modernisation and prosperity. They appeared as the party of moderation and economic competence. 
The ERM required Britain to maintain a fixed exchange of 2.95 German Deutschemarks to the pound. By Black Wednesday, the British currency was coming under pressure from foreign exchange speculators; the pound trading at a low level – 2.77 marks. 
BLACK Wednesday events of the day:
· Started with a wave of speculative selling of the pound 
· Determination by the Major government to avoid devaluation at all 
· To remain in the ERM
· Lamont (Chancellor) announced an increase in the interest  rates to 12% 
· Later the same day, Lamont announced a further increase, after lunchtime to 15% - hoping to persuade foreign investors to buy the pounds. 
· The Bank of England spent huge amounts of money to buy up the pounds
This all failed basically – the pound sank, and an emergency meeting was called at Admiralty House. The conclusion from the meeting (with senior Cabinet members, Hurd, Clarke and Heseltine summoned by Major and Lamont) was to withdraw from the ERM. 
This meeting was famously dubbed as “dipping hands in the blood”. 
Black Wednesday – was criticised by the likes of Gordon Brown as well as Paddy Ashdown and the national press. Lamont was greatly criticised but wasn’t removed from government until seven months later
The Eurosceptic wing of the party strengthened; happy to see the setbacks of the largely contested European integration – many dubbing it White Wednesday
Black Wednesday marked the beginning of the end. 
Black Wednesday was slightly sensationalised and after a relatively short time, the economy stabilised and pulling out of the ERM was seen to have positive benefits, economically. Politically it was an absolute catastrophe. 
The electoral asset of the Conservatives knowing how to look after the economy was essentially diminished; Major’s personal authority was weakened and the Labour Party was in the lead in the polls by 17%. 
The British economy, 1992 – 1997 
Withdrawal from the ERM heralded many benefits : 
· Britain ceased to maintain high interest rates to protect the stability of the sterling. 
· It allowed exchange rates to float downwards, helping British exporters
· Unemployment slowed down
· Housing began to accelerate 
· Government borrowing was reduced as inflation was controlled
Why did the economy improve so markedly? 
· Kenneth Clarke was simply a better Chancellor and communicator with confidence; and the conviction required within volatile economic battleground 
· Kenneth Clarke took over when the American economy was coming out of recession and world trade was expanding
· British economy was doing better because of financial deregulation and flexible working practices; contrastingly, Germany struggled with the costs of reunification and sluggish growth rates. 
· Privatisation: coal – 1994, railways – up until 1996
· 1997: unemployment was down, productivity was up
· Consumer spending, car ownership was up
· House prices rose sharply – and negative equity was a thing of the past
Despite this, the people were reluctant in giving Major’s government any credit for this – the feel-good factor was missing. 

ERM had been devised as an inflation reducing system (it didn’t). Parity was created between currencies by pegging them to the Deutschemark. Margaret Thatcher had been sceptical about the ERM but it was her Chancellor, Nigel Lawson who had been supportive of it. Rate had been really high and British exports had been overpriced. 
The idea of the ERM is that the rate of European currencies would be similar; sticking against outsider currencies including the dollar. In Europe the ERM made sense as it was the forerunner to the single currency, Euro; thus closer currency ties. Thatcher had agreed to combat inflation but it became a policy that she abhorred – Marr. 
What set things off was the US dollar value began to fall because interest rates were being cut; pulling the pound with it. 
September 1992 – international bankers began to speculate against the pound on the money markets. Pound then fell. To try and maintain it at a level required by the ERM the government began to raise interest levels to 15% from 10% and buying up pound with 30 billion of reserves. Kohl refused to lower interest rates which other nations needed. 
16th September 1992 – Black Wednesday, Britain withdrew from the ERM:
This led to:
· British case for being within the monetary union being weakened
· Eurosceptic case strengthening – Portillo, Howard
· Europhillic case weakening – Clark, Heseltine, Hurd 
· Labour Party increasing in the opinion polls Conservative reputation of being the party that could manage an economy being weakened. Humiliating admission of economic failure – Rowe
· LONG TERM: less disastrous for Britain deemed White Wednesday, once the pound was freed from its ties it could finally recover. 
· Britain’s growth out performed that of its European partners 
· Legacy was an impact of the Major government 
Growing internal divisions in the Conservative Party 1992
 Right wingers pushed for more radical social policies; those with leadership ambitions saw a chance to advance their claims – Eurosceptic wing of the party saw an opening to push the government to the edges of Europe if not out of the EU altogether. 
John Major and the issue of Northern Ireland
1993, the government received secret messages hinting that Sinn Fein was ready to discuss a peace agreement; by Gerry Adams and John Hume (SDLP). 
Major was a traditional Conservative on the side of the Ulster Unionists; with a slender parliamentary majority, Major was sceptical about the sincerity of the IRA – however, he went ahead. 
Unionists were in fear of being sold out by the British 
Republicans there was deep rooted hostility to the disloyal British
The fact that the steps towards the peace process were taken by a Conservative PM rather than a Labour leader was helpful. 
If the Labour Party attempted it, they would have suffered from a Conservative and Unionist backbench rebellion. 
Progression was due to Major’s good working relationship with Albert Reynolds and by the prosperity and social change that Ireland was experiencing after accession. 
ENTER ALL THE NORTHERN IRELAND CLASS NOTES HERE – ALL THE LITTLE DECLARATIONS AND EVENTS
The Demise of John Major 
	Satire
Easy target for cartoonists/satirists 

Spitting Image illustrated him as the Grey Man

Major was therefore seen as a character that was personally popular but largely inadequate as a leader. 
[image: http://i.telegraph.co.uk/multimedia/archive/01157/portal-graphics-20_1157493a.jpg]
	Sabotage
July 1993, rebel MPs blocked Major’s attempt to get Parliament to ratify Maastricht – Major won but his authority was damaged. 

When Brunson of ITN asked, thinking the microphone was turned off, Major said this: 

Just think it through from my perspective. You are the prime minister, with a majority of 18... Where do you think most of the poison is coming from? From the dispossessed and the never-possessed. Do we want three more of the bastards out there? What's LB Johnson maxim?" 

Major later said that he had picked the number three from the air and that he was referring to "former ministers who had left the government and begun to create havoc with their anti-European activities" but many journalists suggested that the three were Peter Lilley, Michael Portillo and Michael Howard – three of the more prominent Eurosceptics within his Cabinet. 

The reshuffle had little impact; Eurosceptics were able to express opposition – including Bill Cash and Iain Duncan Smith. 

1995: leadership election, back me or sack me. 
Some saw this as a sign of weakness and desperation

Tony Blair famously mocked Major – I lead my party. You follow yours. 

John Redwood decided to run against Major and Heseltine would become deputy PM; 
The leadership ballot was decisive 218 Major; 89 for Redwood. 
Opposition to Major within the party continued as intensely as before his re election. 

Back seat driving by Maggie
She encouraged Maastricht rebels by demanding a referendum to approve the ratification of the Treaty. Maggie’s memoirs illustrate the approval of Tony Blair than Major as PM. 
	Sleaze
Ironic against the backdrop of the back to basics campaign

Sex scandals caused Mellor and Yeo to resign as well as the scandals caused by the backbenchers

The Scott Inquiry to investigate the illegal arms dealing had illustrated the Tory ministers being economical with the truth. 

Archer and Aitken were convicted of perjury. 

The Cash for Questions affair – bribing two Conservatives by the Harrods owner al-Fayed. Neil Hamilton was ruined by losing a very public, liberal case but refused to resign. Martin Bell, the BBC journalist who stood against him in 1997 won; he made sleaze the forefront and keynote of his campaign. 



The Revival of the Labour Party, 1990 – 1997 
Blair set with the great skill to remodel the Labour brand. The promotion of New Labour was to neutralise down the party extremism which had made the party completely unelectable in the 1980s. 
Attempting to convince Middle England that the Labour Party had fundamentally changed proved difficult; Blair had to illustrate dramatic changes both ideologically and maintaining cohesive party unity. 
The Blair Project was not solely dominated by Blair however; Kinnock and Smith had great contributions too. 
The rise of New Labour
When Kinnock replaced Foot as leader, Labour was in danger of being marginalised by Thatcherism and by the SDP; however Kinnock was fundamental in dragging Labour back into the political mainstream. 
Kinnock took on the extreme left, including Militant Tendency and the Bennites; he made the concerted effort to reorganise the party and move the party towards centre ground. 
Although some political commentators and activists will wholeheartedly blame Kinnock for losing 1992, the Labour Kinnock left behind was more stronger than it had ever been in 1983. 
How would have Labour have fared after 1994 with Smith in charge rather than Blair?
John Smith’s sudden heart attack and death in Feb 1994 – poses the question of Blair’s successes being attributed by the frontrunners of New Labour rather than him being wholly responsible for the rise of New Labour. 	Comment by Shah hadi: The death of John Smith was the birth of New Labour – Rawnsley 
John Smith introduced One Member, One Vote in 1993. This abolished the ability for the trade union block vote. OMOV is arguably surrendering to the anti union movement, which ceases to correspond with Labour roots. Blair wanted to move the party towards the right and away from the left, tainted with memories of the Winter of Discontent in 1979.
Abolishment of Clause IV of the Labour constitution; 
To secure for the workers by hand or by brain the full fruits of their industry and the most equitable distribution thereof that may be possible upon the basis of the common ownership of the means of production, distribution and exchange, and the best obtainable system of popular administration and control of each industry or service	Comment by Shah hadi: Illustrates the commitment to socialism 
This allowed Blair to drop the out-dated socialist ideas and embrace the modern capitalist economy. This was following the SDP in West Germany doing the same in 1959; it was time for Britain to catch up. 
Party unity and discipline was organised by a deal with Blair and Brown, which was highly effective. The party organisation and control was slick; Gould monitored public opinion, Mandelson ensured all members were on message/on job basically. Blair’s press secretary, Campbell used his journalism experience to change Labour relationship with the tabloid press – one of the Conservative Party’s main political weapons. 
The general election of 1997: reasons for Labour’s victory
	1997
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	31.4%	Comment by Shah hadi: LOWEST VOTE SINCE 1823

NOT A SINGLE SEAT IN SCOTLAND

BIGGER DISASTER THAN 1945
ABSOLUTE FUCKING SHAMBLES FOR THE CONSERVATIVE PARTY
	165
	Major

	Labour
	44%
	418
	Blair	Comment by Shah hadi: Seldon describes Blair as a “late developer” who “began with a whimper and finished with a bang”- his reforms were piecemeal to begin with and only gained momentum in his second term

	Liberal Democrat
	17.2
	46
	

	Other
	
	
	


LABOUR LANDSLIDE
Some of the safest safe seats failed to be as safe as anticipated; Hove and Harrogate were won by Labour. 
REASONS FOR LABOUR LANDSLIDE ended 18 years in opposition. This was the first strong parliamentary majority since 1966. Was this the materialisation of a New Jerusalem? 
· Recovery of a new Labour under Blair, who presented a more dynamic platform for PM
· Effectiveness of the campaign against Neil Hamilton by Martin Bell 
· The Sun changed its allegiance from Conservative to Labour – a breath of fresh air 
· Unheard Labour candidate, Twigg, defeated the Conservative beast, Michael Portillo in Enfield 
· The Labour Party wasn’t an easy target; the movement of Labour to the right, prior to 1997 meant the image of socialist extremism didn’t work anymore
· Tony Blair was a skilful orator; presenting an air of moderation and winning over Middle England 
· Blair did well with women and younger voters
· Labour ceased to be the party of tax and spend economics; Brown depicted Labour as a party of prudence and economic competence 
· Campaign was run by a spin machine and was effective in dealing with the media and the press; in selling Labour policies. Spokesmen were always on job with access to up to date information. 
· Labour’s proposed reforms would be the biggest shake up since the Reform Act of 1832

REASONS FOR CONSERVATIVE DEFEAT; back into the wilderness – Major resigned the day Blair came into 10 Downing Street.
· The Conservative Party lost due to the continued divisions in the Cabinet with Europhiles and Eurosceptics
· Government enforced withdrawal from the Exchange Rate Mechanism; undermined Conservative reputation for responsible financial management 
· Public distaste for the ratification of the Maastricht treaty
· Major’s uninspiring leadership – he would never be able to win total loyalty of colleagues/party
· Losing a string of by elections made the Conservatives vulnerable 
· Small majorities inhibiting various deals with the Ulster Unionists
·  Series of financial and sexual scandals involving Tory Ministers and MPs 
· Winning four consecutive election victories was a miracle – winning for a fifth time was an absolute IMPOSSIBILITY 
· HALF the Conservative MPs failed to retain their seats; including Portillo, Mellor, Lamont and Rifkind
· The Referendum Party won no seats but caused enough defection to ensure marginal constituency losses including David Mellor in Putney
· No feel good factor or approval for economic policy; Black Wednesday loomed in the memories of many voters
· Widespread tactical voting which meant many voters voted Liberal; to ensure the anti-Conservative vote was maximised. This resulted in the election of several new Liberal MPs 

· The personalities and policies that shaped Blair’s first government after 1997 election
· The reasons for Labour’s continued electoral successes in 2001 and 2005
· The development of the British economy from 1997 to 2007	Comment by Shah hadi: Blair’s ten years saw economic resurgence – Seldon 
· The attempts to revive the Conservative Party during its years in opposition
Blair allowed Britain to experience a decade in power – winning an unprecedented three consecutive election victories. 
Commentators speak of fundamental realignment of British Politics with Blair claiming his government to be the one of a big tent – incorporating talents form other parties and offering Britain a consensus called the Third Way. 	Comment by Shah hadi: Promising to get away from the divisive and old policies of the Labour left – he wanted to remove the old ideas of Marxism v. Capitalism and create a completely new ideology of thinking. He wanted to be eponymous with the Third Way. 
Blair sustained an enormous amount of political and electoral success for the Labour Party. He also caused the Conservatives to change – they chose David Cameron as their party leader, arguably a rough-reflection of Tony Blair. 
However, Blair wasn’t all hunky-dory with success. Constitutional reform stuttered and stalled – the new consensus was damaged by an unpopular war in Iraq and his special relationship with George W Bush. The Conservatives began to resurrect from the political dead and the big tent didn’t seem as attractive or inclusive. Labour supporters were wanted a return to traditional policies. 
The first Blair government: 1997 – 2001… government basked in an almost universal euphoria of public goodwill 	Comment by Shah hadi: The Blair reforms were to be the biggest shake up since the Reform Act of 1832 – Hirst
· More united than at any time since 1945; great optimism about government
· Blair had talented politicians who led the Blair Project that they had been working on since 1994
· Economic situation was incredibly favourable 
· The press coverage was positive and the Conservative opposition favourable 
· The media made many references to Blair’s Babes – reference to the 101 women that were voted into Parliament in 1997	Comment by Shah hadi: Casual misogynistic tag, Polly Toynbee 
· The cabinet was full of confident and capable politicians including Robin Cook, (FCO), Jack Straw (Home) and Blunkett (Education)
· The political marriage between Blair and Brown that dominated politics for 10 years
· Princess Diana tragically died in a car crash. After Blair’s eulogy Blair’s approval ratings shot up to 90%
The Political Marriage between Blair and Brown
The two gentlemen had entered at the same time, in 1983. This caused the correspondents to give Blairite and Brownite rival briefings to the press. 
BBC journalist, James Naughtie analysed this relationship in his book, The Rivals: The Intimate Story of a Political Marriage. This illustrates the idea of a Labour Civil War
The extent of Labour support was deceptive…
· Massive parliamentary majority did not reflect a surge in the Labour votes
· 43% of the vote was cast for Labour, this was a low share of the turnout
· Fewer people voted in 1997 than they did in 1945 – 1966 
· Labour vote in 1997 was 500,000 less than the Major’s Conservative Party in 1992
AIMS of the Labour government: 
· Developing a foreign policy with an ethical dimension – Robin Cook, interesting as he resigned over the Iraq was which was deemed liberal interventionism 
· Tough on crime and tough on the causes of crime
· Education, education, education
· Commitment to work with the Lib Dems on a fairer voting system, with Jenkins as head of the Commission for Electoral Reform
Failure to materialise the aims:
· too many failed promises
· the government treaded too cautiously and acted like the opposition even after they got into government 
· spin meant Blair was accused of reacting to events with instant soundbites rather than following a consistent long term strategy
· forced through urgent reforms to health
· set up a special delivery unit to ensure his exhibition of unhappiness with the delivery of the policies since 1997
SUCCESSES of the Blair government: 
· skilful in manipulating/massaging public opinion
· statements about the People’s Princess showed a typically sure grasp of the public mood
· Cook and Blunkett were skilful media performers
· National Minimum Wage, 1999
· 2004 – the Civil Partnership Act allowed the same rights to homosexual couples as married heterosexual couples
Notable successes include: 
· The economy; showing they could be trusted with the economy. 
· The decision by Brown to hand over interest rates and inflation targets to the Bank of England was seen as a masterstroke political move.
· Inflation was coming down 
· Employment going up
· Living standards for the middle class were rising due to the housing boom
· Northern Ireland – eventually resulting in the Good Friday Agreement 
· This was a rather personal triumph for the PM who devoted most of his time to create a means of negotiation.
· Hume (SDLP) persuaded the Gerry Adams (Sinn Fein) to commit to a peace plan
· SoS for Northern Ireland, Mo Mowlam had successes in bringing together both the loyalist and republican paramilitaries
· Blair developed a good relationship with the Irish Taoiseach, Bertie Ahern
· Blair proved capable of reassuring David Trimble and the Ulster Unionists during the tense negotiations
· Even after the Good Friday Agreement, Blair remained incredibly close to both sides to create a final settlement 
· Foreign policy – see foreign policy notes; Blair’s part in persuading the United States to support NATO intervention in Kosovo
Constitutional change; devolution in Scotland and Wales
· Scottish Assembly was established using Proportional Representation/ Additional Member System (AMS). SNP got stronger as a result; it was anticipated devolution would distort their momentum
· A Welsh Assembly was created; without tax raising powers
· Elected mayor of London. Successful, but the elected mayor was Ken Livingstone, the left wing maverick that had led the Greater London Council in the 1980s. 
· House of Lords reform – removing all but 92 hereditary peers. Unsatisfactory as 92 peers remain, with life tenure. 
· Freedom of Information Act
· European Human Rights Act. Judicial review created unexpected difficulties for the government 
· Changing FPTP to a more proportional system. Got nowhere. 
The Labour government, 2001 – 2007 
	2001
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	31.7%
	166
	Hague

	Labour
	40.7%
	413
	Blair

	Liberal Democrat
	18.3%
	52
	Highest number since the 1930s

	Other
	4.4%
	24
	



Reasons for Labour success: 
· Blair’s popularity with the voters, personal standing was quite high
· Able to reply on the national press that were newly aligned to Labour
· High level of Lib Dem support – growth of a three party state
· Blair’s continued stress on improving public services
· Hague’s inability to present himself as a better alternative to Blair – Hague was inexperienced and young at the time
· Perception that government was handing economy and foreign affairs effectively
· The trust in Gordon Brown as a prudent Chancellor of the Exchequer
· Conservatives ran a poor campaign as they lacked a clear set of targets which they could attack the government. 
· The opposition to the Euro failed to attract floating voters but growing economy 
· The opinion polls forecasted a Labour win 
The political impact of the war in Iraq
Two wars; the fight against Saddam Hussein and to win over political and public opinion at home and abroad due to Tony Blair’s closeness to Bush. 
Domestic policies were shaped by the controversies over Iraq and the war on terror. 
9/11 had convinced Blair of global terrorism posing a threat to security and special measures were needed to protect civil liberties. 
Opposition to the Iraq war:
· Robin Cook the Foreign Secretary resigned and so did Clare Short, the Overseas Development Minister
· Many people believed because it wasn’t sanctioned by the United Nations, it wasn’t a legal war 
· It wasn’t morally justified to go to war in Iraq and neither were the methods he used to do so
What actually happened in Iraq: 
An intelligence dossier was published; displaying Saddam Hussein’s weapons of mass destruction including both nuclear and biological weapons
The dossier backfired and failed to convince people that the threat of mass destruction was overrated. There were question marks associated to the dossier – including the fact that Campbell (the press secretary) had a key role in drafting it – the dossier was sexed up for the political purposes
If WMD had been discovered after the fall of Saddam this wouldn’t have mattered; there were NO Weapons of Mass Destruction, some historians commenting it was a game of cat and mouse, and the weapons were being hidden. The death/suicide of David Kelly damaged the government’s reputation. 
The Hutton enquiry absolved the government from blame and criticised the BBC; the public mood remained cynical. 
The Iraq war didn’t end neatly however. British and American forces became bogged down in a war of occupation. The government was blamed for human rights abuses by British/American soldiers. There were hopes that troops could come home but the war remained a powerful political factor until the end of Blair’s time in power
The “wobble” in 2004
· Hutton Inquiry into David Kelly’s suicide
· Backbench revolt as a result of top up fees for university students
Newspapers speculated Blair’s resignation prior to the general election 
	2005	Comment by Shah hadi: Blair’s third term was his most successful. This is paradoxical given that his authority was at its weakest. – Seldon
	Votes
	Seats
	PM/ Leader of the Opposition 

	Conservatives
	32.3%
	198
	Hague

	Labour
	35.5%
	356
	Blair

	Liberal Democrat
	22%
	62
	

	Other
	4.4%
	27
	



Reasons for Labour success: 
· Outstanding choice as PM despite his involvement in Iraq
· Conservatives supported the government decision to go to war in Iraq. Labour didn’t get mounting criticism 
· Knowledge of economic/financial difficulties were not as widely to be a widespread factor against the government – suggesting economic ignorance
· The failure of the Conservatives to tackle the FPTP electoral system
· The Conservatives had three different leaders over the course of two years. Hague was replaced by Iain Duncan Smith in 2001, and then again by Michael Howard which made the Conservatives appear disunited and lacking in confidence
· Backed by spin doctors, Blair was an experienced political operator who knew how to control the vehicle of politics
· Howard was competent – but Blair appeared presidential 
· Howard made a bad choice to fight the election on the issue of immigration, law and order – which Howard ceased to have a positive track record on 
· Labour won despite the loss of leading performers; Blunkett and Mandelson resigned due to scandals 
· Robin Cook resigned in protest against the Iraq war; Clarke resigned (Home) from the escaped prisoners – this ceased to affect Labour
The weakness of the Conservative opposition is therefore to blame rather than the successes of Tony Blair 
The Conservative Party – continuing internal divisions
Continued to fight the Conservative civil war – the Conservative Party ceased to be the natural party of government and lost its appetite for power. The 1997 Conservative Party was half the size of Major’s Conservative Party and also more Eurosceptic. 
The Stop Heseltine campaign and Stop Ken Clarke faced hostility from the Right. Michael Portillo wasn’t even an MP anymore. The decision of Hague was a result of his limited political experience = less political enemies. Mrs Thatcher’s high profile support ceased to do him any good and highlighted his inexperience. 
Hague returned to right wing policy to round up the Conservative vote, the fight to save the pound and a hard line on immigration. 
This ceased to appeal to the middle ground Tory voters; the party was not ready to change. 
Hague’s resignation pushed the frontrunner of Iain Duncan Smith to come out as party leader; the rejection of Clarke and Portillo meant the rejection of the voters who would have brought them to power. 
Conservative recovery
2005, the Conservatives suffered another defeat  though lesser than if Iain Duncan Smith had remained in power. This made the Conservatives switch up their tune, promoting David Cameron as party leader of a more united and representative leader. Cameron posed as a credible opposition target
Many Tories defected to UKIP, but the Conservative Party recovered much of their lost ground since 1992. This Conservative Party, under Cameron appeared to be much more liberal. 
The British economy: Labour’s economic policies and their impact
Mostly cautious and the priorities included keeping inflation low and government spending under control. This was to prove to Middle England that Labour was pro business, which was possible due to Labour’s handling of the economy. 
Brown’s tax policies enabled Labour to get away from its previous image as a tax and spend party and the Conservative Party had basically lost its reputation as the party of economic competence. 
Brown became more adventurous in economic policy with a massive injection of money into public services. 
The investment was in all public services including in new schools, hospitals, pay rises for doctors, nurses and teachers. Labour claimed this was catching up with the years of neglect. 
Public spending and government borrowing was too high arguably; the use of PFIs – Private Financing Initiatives meant that this was economic short termism and large debts were being stored up for the future. 
Brown’s legacy includes an unprecedented ten years as Chancellor of the Exchequer; through this time, inflation was kept under control and record numbers were in work. Living standards were up and the consumer economy BOOMED!!! 
Historians argue that the consumer boom was based on ever rising house prices, high levels of credit card spending and personal debt.
The departure of Tony Blair 
The Cash for Honours scandal loomed; Labour fundraisers had promised honours to people making large donations to the Labour Party, Lord Levy was heavily involved as was Blair who faced questioning under oath. 
Blairism won power with a smile and a platitude – but in office never found the levers to put policy into practice. Blair made government more centralised and less effective. In the end, he left the voters dissatisfied. 
TONY BLAIR – an assessment
	He won three elections, the greatest success achieved by a Labour Prime Minister
	He achieved less in power than he could have done – the Atlee legacy was greater in 1951. 

	There was sustained economic prosperity and continuous economic stability
	Blair and Brown inherited a good economic situation in 1997. Brown ceased to think long term and his thinking, economically was too short term through using PFIs

	Blair dominated British politics and forced the Conservative Party to undergo radical change – New Labour
	Blair alienated many traditional Labour voters by moving away from Labour principles and becoming too business-like

	He achieved a historic peace settlement in Northern Ireland – the Good Friday Agreement
	His later attempts to mediate peace in the Middle East failed and created the Iraq war which was unjustifiable. 

	He played an important leadership role in Europe
	He failed to secure British entry to the Euro by abandoning influence from Brown and the national press

	He gave a strong lead in the war against terror, both after 9/11/2001 and 7/7/2005
	His drive for ID cards and greater powers for the police undermined civil liberties and much of the Human Rights Act

	He was a world statesman, giving strong lead on issues in Africa (Sierra Leone) and climate change 
	His strengths were in presentation – the practical results DIDN’T match up

	His policy of liberal interventionism helped bring stability to the Balkans in Serbia
	Liberal interventionism backfired – Iraq was a disastrous and unforgivable, unforgettable error



· Social issues and the impact on society of population trends 
· Changing attitudes towards multiculturalism
· Developments affecting women, youth and relations between the classes 
· Developments in popular culture and media7
Immigration was a poignant issue with the swelling of British population being a problem requiring urgent attention to maintain social cohesion and protect the British way of life. 
Immigration in election polls:
2001 – 3%
2007 – 30%; Britain was full up and there would be rising community tensions as a result
Demographic change ceased to simply be due to just immigration – people were living longer due to better living standards and advancements in medical care. There was greater increases in single occupiers. 
London and the south east grew; with services stretching. Scotland was the absolute antithesis of such prominent growth – parts of the industrial north too, all suffering from economic decline and depressed house prices and urban decay
Governments granted funds for regeneration by relocating government departments outside London. Regenerated cities benefited from new quangos and extensive property development. But London and the south-east continued to attract the lion’s share of economic growth during the years of prosperity. 
The Greying of Britain 
· British population was becoming older with the average age in 2007 being 39
· For the first time in history, there were more people of retirement than there were under 16
· The baby boomers of the 1950s were reaching retirement age. 
· People were lasting till over 80 years had doubled in 20 years and continued to grow
Social consequences for the greying of Britain meant that the demand of medical resources exceeded the supply. NHS funded nursing homes and hospitals failed to cope with the long term demand of care. Pensions became a political issue and the costs of both state/private schemes skyrocketed. 
The grey pound illustrates the amount of disposable income, and the increase of disposable income for pensioners who bought second homes, surfed the net and basically acted cool. 
Tale of two towns; millions of pensioners had not been as lucky to retire early – those dependent on wholly state pension were less fortunate. 
Pensioners struggled to cope with fuel poverty (more than 10% of their income to pay for energy)
The end of the countryside
Shifts of demography from the countryside into the towns and cities. By 2000, 3% of the workforce was employed in agriculture. Small farmers went out of business and many farmers set aside land to cut down food production in return for EU grants
Younger people were forced to move out because they couldn’t afford the house prices being paid by commuters. Urbanisation swallowed large slices of the countryside through housing estates and road building. 
· s
· The massive outbreak of foot and mouth disease in 2001 meant the mass slaughter of cattle
· The fox hunting ban stirred deep opposition by the Countryside Alliance pressure group
2007 saw Britain as a more urban country than ever. 
Migration
Globalisation accelerated the movement of people. The expansion of the EU opened the way for people from Central and Eastern Europe to move to Britain. The numbers of new arrivals put strain on local authorities and on community relations 
Inward migration included many immigrants in the traditional sense and people from the New Commonwealth countries; India, Pakistan and Bangladesh. 
There was a sharp increase of those claiming asylum fleeing violent upheavals from places like Somalia, Iraq and Afghanistan. They used the asylum as a means of entry
Other migrants included foreign students, people from the new EU states. This was all the while controversial – as immigrants were typically labelled and associated with criminal behaviour and taking away jobs from local people.
Migrationwatch focused on the dangers of the public services being overstretched and the possibility of a breakdown of social cohesion. 
Arguably, immigration in general was a positive; economists saw them as a vital net gain to the economy. Most migrants had their children young and contributed to overall birth rates increasing greatly. 
Migration was expected to increase to 71 million by 2050. 
Was Britain an integrated, multicultural society in 2007?
Mosques were becoming a familiar feature of most towns and cities. Schools and local government launched initiatives to celebrate the cultural background of people from ethnic minorities. 
Real progress was made by 2007 in creating a genuinely multicultural and integrated society. 
On the other hand, it could be argued that Britain wasn’t at all integrated – white Britain didn’t do enough to ensure the equality of respect and opportunities for ethnic minorities. 
Some argued that not enough emphasis was being placed on immigrants adapting and assimilating into society. 
The murder of Stephen Lawrence 1993 by a gang of whites at a bus stop. The actions of the police were widely criticised – the MacPherson Report concluded the Metropolitan Police were institutionally racist 
The terrorist attacks, 7/7/2005 – jihadi terrorists, who were British born who had seemed to have assimilated. Mohammed Siddique Khan had become so alienated and reverted to Islamic extremism. 
· The factors influencing Britain’s relations with Europe
· Britain’s role in NATO and the interventions in the Balkans, 1991 – 1999
· The extent to which Britain was affected by the special relationship with the United States
· Britain’s position in the world by 2007
Europe’s centre of gravity was shifting eastwards as states in Eastern Europe broke free from Soviet domination and moved towards the EU. Post-Soviet Russia was weak, economically and politically. This freed up NATO, effectively giving it a new role as the Cold War drew to an end. 
The dominance of the United States seemed to be unchallenged and its special relationship with Britain seeming more politically apt than ever. 
Britain had to forge new relationships:
Britain		+		Ireland
The Good Friday Agreement was deemed a great success and a final end to the Troubles in Ireland
Britain		+ 		European Union		
Blair used the special relationship to build a diplomatic bridge between America and Europe – this was difficult because of the Cold War conflicts 
Britain 	+ 		United Nations
Europe was creating deep schisms in the Conservative Party. In 1990, the EEC had 12 member states. By 2007, this had increased to 27 states and was welcoming negotiations from Turkey, Croatia, Serbia and Ukraine. EU expansion changed the way in which decisions were made. What had initially been The Six an economic common market became a much more political organisation; its players being fundamental in the creation of New Europe. 
How was Britain to react to the rapid EU expansion?
	Continue with ambivalent relations as established by Mrs Thatcher?
	Be at the heart of Europe being readily involved?



John Major / Tony Blair attitudes on Europe… 
	JOHN MAJOR
	TONY BLAIR

	European leaders saw Major as less confrontational than Mrs Thatcher – particularly with the German Chancellor, Kohl
	Blair’s electoral success had proposed Britain’s transformed role in Europe. Britain’s need for European partners was greater. Blair’s eloquent statements (sometimes in French) addressed this 

	Positive intent, coupled with style and charisma permitted Major to battle through negotiations leading up to Maastricht
	Blair was instrumental in orchestrating the creation of a diplomatic bridge between Europe, US (Iraq, Israel, Palestine)

	Major wanted to prevent the treaty from becoming too federalist; and wanted to secure a number of opt-outs for Britain
	Blair’s political flair and international statesmanship notion fit well with the likes of the German Chancellor, Schroeder and the aspirations of New Europe

	Maastricht was a personal triumph for Major; achieving more than Thatcher in terms of negotiations with Europe and in selling the deal to the Conservatives at home
	Negotiation and persuasion skills were inept for Britain continuing to be a world power

	Major had to deal with the anti – European attitudes posed by the Conservative Party at home, leading to Britain having no prospect at joining the currency. It was difficult to fulfil the promise of 1991, to place Britain at the very heart of Europe
	Negotiation ensured Britain took part in EU expansion; and for the Treaty of Nice expanding the organisations within the EU

	Major didn’t want to surrender complete economic sovereignty and thus withdrew Britain from the ERM on Black Wednesday 
	Britain was fundamental in developing a common European strategy against the threat of terrorism

	Anti-Europe in the Conservative Cabinet included; Redwood, Portillio, Howard

Pro-Europe in the Conservative Cabinet included Heseltine, Clarke
	Blair took lead initiatives on climate change, world trade at G8 summits – good relations with Angela Merkel ensured initiatives begun at Gleneagles were carried forward

	Traditional Conservative views on Ireland, supportive of the Ulster Unionists
	By the time he left office, Blair’s relations in Europe were still high and he had excellent relations with Sarkozy, Merkel and New Europe

	
	Treaty of Nice 


There were few concrete achievements however; 
· Failure to make poverty history
· Rejection of the EU constitution
· Lisbon treaty faced the uncertainty of all 27 states to ratify
International diplomacy and the peace process in Northern Ireland: 
Northern Ireland was the responsibility of the British government and the political parties at Westminster. 
Sinn Fein and the IRA were legally British citizens, despite them not wanting to be. 
1990 – there was an increased amount of cooperation between London and Dublin was vital to the peace process. The cooperation was strengthened by the Clinton presidency due to the benefits of EU membership as well as regular contact between British/Irish officials at EU meetings
The prospects of peace were improved by the breakthrough of democracy in Europe and in South Africa. The close relationship between Major and Reynolds the Irish Taoiseach meant improved governmental cooperation, despite the Taoiseach being a committed nationalist. The two different personalities got to know each other and laid the foundations for the Blair-Ahern relationship from 1997. 
You could never slide a cigarette paper between Blair and Ahern. They consulted on absolutely everything – and neither took his eye off the ball. Anglo – Irish relations represented one of the most important and durable success of British foreign policy. 
Britain, NATO and the Balkans, 1991 – 1999
The end of the Cold War meant the expanding European Union was to create greater resolutions in collective security to settle disputes between Israel and Palestine; Greeks and Turks. Optimism was shattered by the problems of the Balkans as Yugoslavia disintegrated.
· From 1989, Yugoslavia was in crisis; Milosevic was changing from Communist to extreme Serbian nationalism, threatening violent action against the Albanian population in Kosovo
· Slovenia declared independence in 1991 and Yugoslav state began to break up
· Violent clashes between Serbia and Croatia culminated in a war of atrocities in 1991
Both the EU and the UN began diplomatic efforts. This failed and called for Anglo-American diplomatic efforts by Vance and Hurd to set up a UN Protection Force. 
There were attempts to maintain a multi ethnic Yugoslavia, or to allow it to break up altogether; 
· Croatia declared independence in 1992
· Bosnia was in danger of being attacked by both Croatians and Serbs
· The Bosnian war began in 1992; where ethnic cleansing drove out the Muslim population by Bosnian/Serb paramilitaries backed by Milosevic’s government 
· 1992, Major held a joint UN/EU conference in London and UN peacekeeping force were put in place.
· The Vance-Owen plan pushed a long term settlement. Major was praised for his actions but there ceased to be a concerted European pressure
· The US didn’t want to intervene in Europe and Serb aggression didn’t end
· The Bosnian war continued with Sarajevo (Bosnian capital) under siege. 
· Mediation therefore was ineffectual, particularly after the massacre of Srebrenica 
Events in the Balkans, 1995 – 1999
After the horrors of the Sarajevo siege and the Srebrenica massacre, reliance on EU diplomacy and UN peacekeeping was perceived to have failed badly. 
Foreign policy became the goal of the UN and NATO. Clinton had to intervene as the central command and military power of NATO
American air strikes led to a peace conference in Ohio, followed by a treaty signed in 1995. This guaranteed Bosnian independence protected by UN force and economic support from the international community. 
Blair also continued the use of NATO. Blair devoted much of his diplomatic efforts in persuading Clinton to back military forces against Serbia. 
In 1999, a NATO bombing campaign against Serbia forced Milosevic to pull his forces out of Kosovo. He was overthrown and sent to The Hague to be tried as a war criminal
The collapse of Yugoslavia was now complete and the way was open for new states such as Slovenia and Croatia to join the EU. 
[image: http://graphics8.nytimes.com/images/2006/03/12/international/milo3.span.jpg]For Blair, military intervention of 1999 was a big success; strengthening his belief in liberal interventionism. It convinced him of the vital importance of the special relationship and the key role in bringing American and European policy closer together. The success in the Balkans in 1999 moulded Blair’s thinking and shaped his later policies.


The impact of the special relationship on Britain’s position in the world
Blair and the special relationship 
Reliance on the UN and Europe to resolve conflicts failed. Blair was convinced that he had been right in persuading Clinton to back military intervention against Milosevic and that it was essential to keep the US involved in European affairs & to make full use of NATO to defend a new world order. 
Blair strongly believed in the use of liberal interventionism to ensure there would be no more Srebrenica’s and ethnic cleansing. 
The War on Terror
The terror attacks carried out by Al-Qaeda against the US on 9/11 led to the war on terror. This caused the ever increasing widening division between the Muslim world and the West. 
Blair had established a good, working relationship with Bush in combatting the threat of international terrorism. Most European governments agreed with them. 	Comment by Shah hadi: Blair’s focus on foreign affairs and his deep religious bond with George Bush arguably distorted his views at times – Colley 
Prior to 9/11, the US was invulnerable from outside attack; the collapse of the Twin Towers and the simultaneous attack on the Washington Pentagon came as a shock. America decided to enact the invasion of Afghanistan (ruled by the Taliban) as they provided the operation base for Al-Qaeda. During the invasion, the US expelled the Taliban; this exhibits the benefits of liberal interventionism. 
There was however, no immediate pacification of the country and despite strenuous attempts to capture them, bin Laden and Omar (Taliban leader) escaped. A democratic regime under Karzai was established – but economic and political development was slow.
The reconstruction of Afghanistan would have potentially succeeded if it remained the main focus of Western attention and not Iraq. The Afghan government struggled to cope with the political situation and the Taliban regrouped – making it necessary to send troops into the Afghan Karzai regime. 
The invasion of Iraq led to the detention of foreign fighters and the introduction of special measures to deal with enemies. It was impossible to try them under a judicial system yet impossible to set free suspected terrorists. 
Camp Delta at Guantanamo Bay in Cuba heralds the base where men were intensively interrogated, using methods that could be considered torture. Some were escorted to places like Egypt/Morocco by extraordinary renditions and special interrogations. 
Blair became unpopular at home and abroad causing the idea of liberal interventionism to discredit massively. Blair was criticised because of his links with Bush; Iraq had become the defining debacle of his political career. 
The Iraq war	Comment by Shah hadi: As Eden is remembered for Suez, Blair will be remembered for Iraq
Saddam Hussein hadn’t been removed from power despite the First Gulf War. He had been contained by no fly zones and economic sanctions from NATO. 
Bush and his neo-cons had been keen to deal with unfinished business of Iraq. They felt that containing Saddam Hussein hadn’t worked and more drastic action was required. Iraqi exiles encouraged the idea of the overthrow of Saddam Hussein. 
Fears:
1) Iraq teaming up with Al-Qaeda and providing a new base for terrorism
2) Iraq may develop atomic/biological weapons – Weapons of Mass Destruction
Saddam Hussein had expelled UN weapons inspection teams in 1997 and seemed to be hiding something. 
Blair was convinced that the threat of WMD was real. 
Was Blair justified in entering Iraq?
	No, Blair was not justified in entering Iraq
Blair knew Bush was going to invade Iraq anyway and was using UN resolution as a way of bringing Europe around. Blair’s efforts to be the diplomatic bridge therefore became fatally flawed as he was so closely aligned to Bush, ideologically that he ceased to have power to influence American policy

There was intense opposition from many in Europe and the US who regarded it an illegal and unnecessary war. 

Establishing a government was difficult and violence became an endemic. Violence undermined plans for economic reconstruction. 
	Yes, Blair was justified in entering Iraq
Blair was incredibly concerned and convinced of the dangers of Weapons of Mass Destruction. Blair was correct in his analysis of the US being part of the international world order and not retreat to unilateral action/isolationism.

Those who were saying Leave it to the UN or the Europeans are right had forgotten the horrors of Srebrenica 

Blair made a strenuous effort to win over the Europeans by pushing for another UN resolution. Bush’s neo-con hawks were dead set on the invasion of Iraq launched by American forces backed by Britain, Poland and Italy. 




Military victory and the overthrow of Saddam Hussein came quickly but there was no neat, decisive end to the war. 
British forces in Basra and South Iraq were successful but the situation deteriorated as Shia militias became more powerful. Improvements to the security situation and the training of Iraqi forces meant that there were more provinces handed over to the Iraqis. 
Tony Blair left Downing Street in 2007; with the war damaging his reputation. A democratic government on the other hand, replaced Saddam Hussein’s dictatorship with the hope the government could have a stable hope in the future. Judging the effect of British foreign policy liberal interventionism depends on the future of Iraq and the outcome of the continuing war in Afghanistan. 	Comment by Shah hadi: I would prefer to be remembered for having destroyed the Conservative Party – Tony Blair 	Comment by Shah hadi: Margaret Thatcher apart, no other prime minister since the Napoleonic War can claim an uninterrupted ten years in 10 Downing Street – Stephens
Blair’s legacy is “botched reforms, and a diluted brand of Thatcherism” – Ferguson 
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